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SECTION- A

1. Read the following passage carefully and answer the questions that follow:-

The therapeutic value and healing powers of plants were demonstrated to me when |
was a boy of about ten. | had developed an acute persistent abdominal pain that did not respond
readily to hospital medication. My mother had taken me to the city's central hospital on several
occasions where different drugs were tried on me. In total desperation she took me to Egya
Mensa, a well known herbalist in my home-town in the western province of Ghana. This man
was no stranger to the medical doctors at the hospital. He had earned the reputation of offering
excellent help when they were confronted with difficult cases where western medicines had
failed to effect a cure.

After a brief interview, not very different from what goes on daily in the consulting
offices of many general medical practitioners in the united States, he left us waiting in his
consulting room while he went out to the field. He returned with several leaves and the bark of
the tree and one of his attendants immediately prepared a decoction | was given a glass of this
preparation, it tasted extremely bitter, but within an hour or so | began to feel relieved. The rest
of the decoction was put in two large bottles so that | could take doses periodically. Within about
three days, the frequent abdominal pains stopped and | recall gaining a good appetite. | have
appreciated the healing powers of medicinal plants ever since.

My experience may sound unusual to those who come from urban areas of the
developed world but for those in the less affluent nations such experiences are a common
occurrence. In fact, demographic studies by various national governments and inter governmental
organisations such as the World Health Organisation (WHO) indicate that for 75 to 90 percent of
the rural populations of the world, the herbalist is the only person who handles their medical
problems.

In African culture, traditional medical practitioners are always considered to be
influential spiritual leaders as well, using magic and religion along with medicines. Iliness is
handled with the individual's hidden spiritual powers and with application of plants that have
been found especially to contain healing powers .

Over the years | have come to distinguish three types of medicinal practitioners in
African societies and to classify the extent to which each uses medicinal plants. The first is the
herbalist who generally enjoys the prestige and reputation of being the real traditional medical
professional . The second group represents the divine healers. They are, fetish priests whose
practice depends upon their purported supernatural powers of diagnosis credited with ability to
intercept the evil deeds of a witch.

(i) What are traditional medical practitioners considered to be, in Africa ? @
(i) What powers do the plants have ? @
(iii) How did the writer feel relief ? 1)
(iv) What does the study of WHO tell ? @
(v) Why did the writer's mother take him to Egya Mensa ? @
(vi) What is the status of traditional medicinal practitioners distinguish with ? @

Find out the word from the passage which means : -

(i) Depression (1)
(ii) Fluid 1)
(iii) Longing 1)

2. Read the following passage carefully and answer the questions that follow :-



Roshni Bairwa remembers running all the way from her home in Mahmoodnagar Dhani village
to the room where the 'balsamooh' (children's group) met. "My grandparents are getting me married,
You have to do something' the girl then 12 year old told, the 20 or so children sitting there.

The children, all aged between eight and sixteen, trooped up to Roshni's house and urged her
grandparents to stop the impending wedding . Others including village elders and teachers, joined in.
The wedding was stopped, She had discovered a way out of the quagmire with the help of a local NGO
and the village children.

When she was in 121", the pressure to get married returned .This time her uncle found a match
for her. When she resisted, she was taunted and beaten. People would point to her as the girl who
brought shame to her family and asked their children not to speak to her. | was 16 years old and alone in
the world . I walked to school with my eyes fixed to the ground . | would think sometimes what have |
done that is so terrible for every one to hate me so much ?

"I would cry myself to sleep”, recalls Roshni, who lost her father when she was two and had been
abandoned by her mother shortly after. But even in those dark moments, Roshni didn't give up, moving
out of the village to Peeplu tehsil in Rajasthan where she rented a room and attended college.

With education and independence came a sense of confidence. " | kept in touch with the children
in the village. Every time, there was a child marriage, they-would call me and | would go to stop it. |
realised, | had already been thrown out of the village, the worst had already happened, what else could
the villagers do? So | went and fought with every one who was getting their child married , " she says
with a laugh. So far she has stopped over a dozen marriages.

Even without the support of the law, young girls have been crusading against the practice .
Earlier this month, 19 year old Sushila Bishnoi from Barmer succeeded in getting her marriage
annulled, submitting photographs and congratulatory messages from her husband's facebook account to
the court. The court accepted these as evidence that the union took place when both the bride and
groom were 12 years old and declared the marriage invalid .

Seema Bairwal (name changed) was 15 when she was married to a man a few years older. Later
when she started attending 'Bal Smooh' meeting with NGO Shiv Shiksha Samiti, and Save the Children,
it dawned on her that she had a choice, "I learnt that my life is mine. | have the power to say no to
marriage.

(i) What is rebelled against by the brides in the passage ? (D)

(it) Who helped Roshni at the age of twelve years to succeed in her mission ? (D)

(iii) How did people of the village behave with Roshni when she was sixteen years old? (1)

(iv) Why did Roshni move out of the village ? D

(V) Write the word from the passage which means: ‘fighting' Q)

(vi) Write the opposite word of 'Failed' from the passage. D
SECTION-B

3. You are Abha/Abhay,. The secretary of Govt. Sr. Sec. School, Amritsar . The school is
going to organize "Yuva Mahotsav' in the next month. Invite the names of the participants
for various activities through notice.

(4)
OR
Prepare a thanking message to your friend Leena/Tejasvi whose invitation to their sister's
marriage is accepted by you. Sign yourself as Riddhi/Sidharth.



4. Your school organised a 'Nipun Mela' Prepare a report for the local news-paper using the
given hints and your experience. (planning, model display, stalls, decoration, visit of
guests, prizes)

(®)

OR
Write a paragraph on the topic:
'‘Advantages of yoga'
5. Write a letter to the Editor of a local daily newspaper to draw the attention of authorities on
the condition of roads in the city.

(5)
OR
Write an application for the post of a school lecturer in a school . Enclose your detailed
C.V.also.
SECTION-C
6. Join the following sentence using the word given in the bracket :
I am convinced .
I am doing the same thing. (that) 2
7. Combine set of sentences into one sentence as directed. 2
Suman learnt all answers.
She got first position in the class.
(Make a compound sentence )
8. Fill in the blanks by choosing the appropriate phrasal verbs given in the brackets :
(i) The Second World War................ccccevinnn ... in 1939. @
(broke out /broke off)
(ii) The Government iS trying to.................coeuvn... prices. Q)
(bring out/bring down)
(iii) Youcan .........coceeenen.n. your work without fear. @
(carry on/ carry out)
9.Fill in the blanks by choosing the correct conjunction given in the brackets :
(i) Siddhi saw her brother ........c.oii.... ran to hug him. @
(and /s0)
(" ... A it was raining, I was ploughing the field . Q)
(While /When)
(iii) A book is abook..................... there is nothing in it . @
(if /although)
SECTION-D

10. Read the following passage carefully and answer the questions that follow :

Besides, the whole school seemed so strange and solemn. But the thing that surprised
me most was to see, on the back benches that were always empty, the village people sitting
quietly like ourselves; Old Houser, with his three cornered hat, the former Mayor, the former
Postmaster, and several others, besides. Everybody looked sad and Houser had brought an old
primer, thumbed at the edges and he held it open on his knees with his great spectacles, lying
across the pages.



While | was wondering about it all, M. Hamel mounted his chair and in the same grave
and gentle tone which he had used to me, said "My children, this is the last lesson | shall give
you. The order has come from Berlin to teach only German in the schools of Alsace and
Lorraine. The new master comes tomorrow.

(i) The most surprising to the boy was to see -
(A) back beanches were filled by villagers.
(B) big crowd in school.
(C) M. Hamel was in very good dress.
(D) everyone was very serious and gloomy . @

(ii) The schools of Alsace and Lorraine will teach -

(A) French (B) German

(C) English (D) Russian (1)
(iii) The villagers who were sitting in class were all looking very -

(A) serious (B) sad

(C) grumpy (D) happy )
(iv) The lesson taught by M. Hamel that day to students was -

(A) first lesson (B) moral lesson

(C) last lesson (D) spiritual lesson (D)

(v) Choose the word simlar in meaning to 'Queer" -

(A) Strange (B) Quiet
(C) Sad (D) Thumbed (D)
(vi) Choose the word opposite in meaning to 'Present’ -
(A) Now (B) Everyday
(C) Former (D) Strange (D)
11. Answer any one of the following questions in about 60 words :- (1X3=3)

Describe about Seemapuiri.
(Lost Spring)
OR

Write the theme of the lesson' The Rattrap'
(The Rattrap )

12. Answer the following questions in 20-30 words :-

(i) What is the 'Misadventure' the writer William Douglas speaks about ?
( Deep Water) (2)

(if) Who was Rajkumar Shukla ?
(Indigo) (2)

13. Explain any one of the following stanzas with the reference to the context :  (1X5=5)

Aunt Jennifer's tigers prance across a screen,
Bright topaz denizens of a world of green.
They do not fear the men beneath the tree ;
They pace in sleek chivalric certainty.

OR
Fishermen in the cold sea.
would not harm whales
and the man gathering salt



would look at his hurt hands .

14. Answer the following question in about 60 words : (1X3=3)

Write the central idea of the poem 'Keeping Quiet'
(Keeping Quiet)
OR
Why is 'grandeur’ associated with the 'mighty' dead ?
(A Thing Of Beauty)

15. Answer the following questions in about 20-30 words :

(i) What is the 'Childish longing' that the poet refers to ? 2
(A Roadside Stand)
(ii) What idea do you form about the poetess as a daughter ? 2
(My Mother At Sixty Six)
16. Answer the following question in about 60 words : (1X3=3)

Write the character sketch of Dr. Sadao.
(The Enemy)
OR
Why is Antarctica the place to go to, to understand the earth's present, past and future?
(Journey To The End Of The Earth)
17. Answer the following questions in about 20-30 words :

(i) What do you infer from Sam's letter to Charley ?

(The Third Level) (2
(if) What is it that draws Derry towards Mr. Lamb ?
(On The Face Of It) 2

18. Choose the correct alternative :
(i) What is the name of the narrator of the story 'The Third Level ?'
(A) Louisa (B) Sam
(C) Fames (D) Charley (1)

(ii) In what hour was the prince born ?
(A) The hour of the moon  (B) The hour of the star

(C) By the blessings of god (D) The hour of the bull (8]
(i) Who were stretching and sunning themselves ?

(A) Whales (B) Crabeater Seals

(C) Penguins (D) Star Fish D

(iv) What was the messenger wearing ?
(A) Official uniform (B) Warm clothes
(C) Wollen clothes (D) Civil dress Q)

(v) What did the kids call Mr. Lamb ?
(A)Mr. Lamb (B) Lamey Lamb
(C) Fat Lamb (D) Old Lamb D

(vi) How was the day on the land of apples ?
(A)rainy day (B) very hot
(C) very cold (D) normal Q)



(vii) What do people not speak openly about ?
(A) Untouchability (B) Poverty
(C) Corruption (D) None of the above

(viii) What does Derry like to hear ?
(A)sound of rain on roof  (B) sound of wind
(C) songs (D) sermons

(ix) How was the behaviour of Yumi ?
(A)Kind (B) Pitiful
(C) Stubborn (D) Careless

M)

1)

1)
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1. gl gdueM 3199 U UH UN 31UAT AHIh ITardd: forg |

Candidate must write first his/her Roll No. on the question paper

compulsorily.
2. T U B B fard g |
All the questions are compulsory.
3. U U BT IR al g IR YRABT H & for |
Write the answer to each question in the given answer-book only.

4. 59 Ul § dRe WS 8 SHd SN Udh il &l ford |

For questions having more than one part, the answers to those parts are to

be written together in continuity .
5. U9 BT IR foa-l | gd Ued BT i 37agd ol |

Write down the serial number of the question before attempting it.

6. U UF & Bl 9 IS HURRY H (Bl UbR &I Ffe /3R /
foRIEmT 89 R 3=l 99T & U &I Ael 9 |

If there is any kind of error/difference/contradiction in Hindi & English

version of the question paper, the question of the Hindi version should be
treated valid.



s — (3)

SECTION-(A)

Igfahedtcid U (i xviii TD)
Multipe Choice Question (i to xviii )

(1) (i) ST¥ YR & 7 Hd G949 error 37l g ar Exception &M ............. %
(1) Created (9) Asserted
(&) Triggered () Raised

When an error occurs during the execution of a Program, an exception is said to

have been .........cccceviieenn. :

(a) Created (b) Asserted

(c) Triggered (d) Raised

(i) Readlines( ) HeTS ATTRT QT B ...ooveostiersoeensiion %
(ar) String (3) List

(&) Dictionary () Tuple

Readlines( ) method return ................cccoieeeeeeennnes

(a) String (b) List

(c) Dictionary (d) Tuple

(iii) Stack & =& elements &1 TOP & SIrsH &7 &8 © | %
(e1) POP (&) PUSH

(@) INSERT (g) (a) (and (b) both

.............. adds a new element at the TOP of the stack.

(a) POP (b) PUSH
(c) INSERT (d) (a) (and (b) both
(iv) | Storage fSarsd 2 | %

(31) Hard disk (#) SSD



(@) Pen drive (g) all of the above

Commonly used storage devices.

(a) Hard disk (b) SSD
(c) Pen drive (d) all of the above
(v) /91 5 &1 STeed @ 7 © — %

(31) ST aRdAfdd G & BE Yse B YT Bl & | for A aee o
HEI ST 2 |

(3) 7T fafdre Sgewg @ forw ST I fSONgT &A1, a9 T AR FUg fhar Sirar |
(¥) T fosi ¥ MaR SR Sifeerdr &1 &1 Ahdr © |

() SWRIad I |

Which of the following properties belong to the database?

(A) A database is a representation of some aspect of the real world also called mini
world.

(B) It is designed, built and populated with data for specific purpose.

(C) It can be of any size and complexity

(D) All of the above.

(vi) SQL ¥ &% HHTUS & gl AYE & Uil bl gl o bl @ | %
(31) Alter Table (d) Modify Table
() Change Table (@) Hide Table

In SQL, which command is used to change a table's storage characteristic?

(a) Alter Table (b) Modify Table
(c) Change Table (d) Hide Table
(vii) Computer Network & A

(31) I8 HIER B TSI AR IHD TCHI BT HIUT ¢ |

(9) I8 HOR o9 §RT IR¥R I3 U ¢ |
(W) ameE! iR gEesi &I AR HRA @ AN T © |



(T) SURIad T |

A computer Network-

(A) It is a collection of hardware components and Computer?
(B) It is interconnected by communication channels.

(C) Allows sharing of resources and information

(D) All of the above

(viii) Bandwidth T HTUT SITAT ©— %
(31) Byte per second (9) Bit per second
(M) Hertz (?) Amperes

Bandwidth is measured in -

(a) Byte per second (b) Bit per second
(c) Hertz (d) Amperes

(ix) U Malware @1 UgaTd & Sl fhdl HhHUT & ARIA | Ui a1 Fell= 2l
AT B | %
() Trojans (d) Worms

() Rootkits (&) Virus

Identify the malware which does not replicate or clone through an infections

(A) Trojans (B) Worms

(C) Rootkits (D) Virus

[ I Ud Python object © ST U error &I Ygf¥d &xdrl € | %
(31) Interpreter (d) Compiler

() Exception (?) Module

..................... is a python object that represents an error

(A) Interpreter (B) Compiler
(C) Exception (D) Module

(xi) Stack 7T # & e 9199 T TFARVT HRAT & %
(37) FIFO () LIFO

() FILO (g) LILO

Stack follows :-



(A) FIFO (B) LIFO

(C) FILO (D) LILO

(xii) Stack 31X Quene QI A &R & foly b ST AXaT &1 SUANT fhar ram 2 |
%

(37) Stack (9) Array

(d) Quene (€) Deque

Which data structure can be used to implement both stack and quene

(A) Stack (B) Array

(C) Quene (D) Deque

(xiii) Hash TTfTdT H ST9 QT elements % &1 Slot Hmap 81 & @l S Hal ofldl & | %

(31) collision (9) Sorting

(d) Searching (%) Merging

When two elements map to the same slot in the hash table it is called.

(A) collision (B) Sorting

(C) Searching (D) Merging

(xiv) T3l T & AUE I BT GRS &9 9 W A1 GAAaRIT &R B Ufhar ol

HET ST 2 | %

(31) Searching (9) Sorting

(d) Rearranging (%) Merging

The process of placing or rearranging a collection of elements into a particular

order is known as

(A) Searching (B) Sorting

(C) Rearranging (D) Merging

(xv) g9 9 S H [8, 9, 10, 8, 7, 6] 3 U< &y | S 3l HT 9ga1d 8N %

(31) 8 ()9

(|) 7 () 10

Mukesh Score marks [8, 9, 10, 8, 7, 6] in test. Mode of these given marks
(A) 8 (B)9



(C)7 (D) 10

(xvi) FF=ferRaa & & 9T e BIeT Jedd ¢ | %
(&) WAN (@) MAN
(9) LAN () None of the above

Which of the following is the smallest network?

(A) WAN (8) MAN

(c) LAN (D) None of the above

(xvii) STIfEe MfSAT B MHAR TR & wU H i A SImar § | %
(A) fixed or unfixed (B) determinate or indeterminate.
(C) guided or unguided. (D) metallic or nonmetallic.

Transmission media are usually categorized as

(A) fixed or unfixed (B) determinate or indeterminate.
(C) guided or unguided. (D) metallic or nonmetallic.

(xviil) T try-except scieh H TeRd™ except o Bl Hehd =72 %
(A) [ (B) Wk

(C) W & AT (D) YT ¥ AT

How many except statements can a try-except block have?

(A) zero (B) one

(C) more than one (D) more than zero

Q2. Ra <ot & g @R (i x dD)
Fill in blanks (i to x )

() I search f&¥T ¥l elements &1 BIg 991, (& IR 4 T Al &
elements @1 SE &RaT © | %
...................... search checks the elements of a list, one at a time, without
skipping any elements.

(ii) Tl faRly o9 H qcdl & HUE DI YA: FIRIT B DI UIhAT Bl ...

el ST 2 | %




The process of placing or rearranging a collection of elements into a
particular order is known as ........cccceceeeeeiiiiiiinnnns

(iii) Front 3R Rear &7 SUINT .................. @1 YwIMT AT 3fd H fhar S 21 %
Front and Rear are used to indicate beginning and end of ...............

(iv) ------- U% Python object 8 ST T® error &1 T & | A

....................... is a python object that represents an error.

(v) --- - T®H YN BT HUE & S data base ®I SUTANT g maintain
IR @ oy ITANTHAT BT Fe™ q7dT & | %
A....... is a collection of programs that enables users to rate maintain and use a
database.

(vi) o=t daer # Prs faeiyar foreign key ® | Ife ag foosdl o/g Hawer # .............
key & %

An attribute in a relation is foreign key if it is the .............. key in any other relation.
(Vii) FTP 2168 BT 312 & it %

The term FTP stands for .......ci........ .

(viii) _ —- 3 IT—IAT Hcdd B AT 2 | %

........... isa collection of many separate networks.

(ix) VOLTE &1 312f & %
VOLTE stands for...........cccomriiieiinniieceenen,

(x) ---- --- U% legitimate software & I Udh dR $¥clel &l
ST & 1S virus @1 AR &1 &Rl ¢ | %

................ looks like a legitimate software which once installed acts like a
virus.
Q3 3 AYTRIAD U (i x Th)

Very Short answer type question (i to x)

(i) Python # ID Error Exception &4 I @1 Sl © ? 1

How to catch ID Error Exception in Python ?



(ii) Python % &7 Open( ) &1 SUANT &9 & © ? 1
When we use Open( ) methods in Python ?

(iii) Data file ¥ Data @ Bytes(n) @ fAf<s S @ ded & forv fhd waRE &
STINT b S & | 1

Which Method is used to read a specified numbers of bytes(n) of data from a data file.

(iv) fp<ar werm & o=l @ Hars AL § O T3 ® [90, 120, 110, 115, 85, 90, 100,

110, 110] BTH & TS BT AT AT HIET ST BT | 1
Assume that height (in cm) of Students in a class are as follows [90, 120, 110, 115,
85, 90, 100, 110, 110]. Find Mean or average height of the Class.

(v) Database schema &1 87 1
What is Database schema?

(vi) SQL § 89 update statement @I YIITT &d Hxd & ? 1
When we use Update statement in SQL ?

(vii) Computer network @ ®Ig gia T feIfRav | 1
Write any five components of computer network.

(viii) Transmission Media T &IaT 8 ? 1

What is transmission Media?

(xi) Python exception handling # except <% &1 Igavd T &7 1
What is the purpose of the except block in Python exception handling?
(x) ST T Bl 34175[% EI%)[Range RT B? 1

What is the range of Frequency for radio waves?

TUs — (9)
SECTION -(B)
AYTRTHD T
Short answer type question
Q4 T fo S (a) T (b) § T IR & ? 1.5

(a) p = open("Practice. txt", "r")



p. read (0)

(b) With open("Practice. txt", "r") as p:

X = p.read( ).

What is the difference between the following set of statements (a) and (b) ?

(a) p = open("Practice. txt", "r")

p. read (0)

(b) With open("Practice. txt", "r") as p:

x = p.read( ).

Q5 Stack W &Y ST Fehel aTel giIATET Sfuverd a7 87 1.5

What are the basic operations that can be performed on the stack?

Q6 Queue Deque ST TI3U ¥ UHR ¥ SR ST TI3U ¥ 3MT & 2 1.5

How is queue deque data type different from deque data type?
Q7 & foRe &1 3aRIE! HH H HHdg B & foly 99a1 dic YaaniRed ford | 1.5

Write a bubble sort algorithm to sort a list in descending order.

Q8 Collision @1 87 1.5
What is collision?

Q9 Structured data 31¥ unstructured data # 3T<¥ foIfRau | 1.5
Differentiate between Structured data and unstructured data.

Q10 U 9wre & A1 &7 &l aA (ifeassd #) 34, 34, 27, 28, 27, 34, 34 faar rar €| 34
araH &1 standard deviation =g BIfS | 1.5
Consider the temperature (in Celsius) of 7days of a week as 34, 34, 27, 28, 27, 34, 34. Find the
standard deviation temperature.

Q11 Single Row Function 3R Aggregate Function H B3 a1 R forlay | 1.5
Write any two differences between Single Row Function and Aggregate Function.

Q12 f&a I SQL Statement &1 3m3eye Ry | 1.5
(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Write the output produced by the following SQL Statement.

(a) SELECT POW (3,4) (b) SELECT LENGTH ("INDIA")

Q13 Dos 3R DDos 31c® # ¥ forfRau | 1.5

Differentiate between Dos and DDoS attack.
gre — (9)

SECTION -(C)



S SIRTHD U

Long answer type question

Q14. Stack BT SUIRT BRD Th R &I Rad # forgs &1 b UmA
forfiay | 3

Write A program to reverse a string using stack.

31dT / OR

((2+3)*(4/2))+2 SURITFT AMATIT BT SUIRT DHRA Y | Stack data structure BT
SUIANT BY¥h BIShl & Held b foly TR g% IROT Ufhar gy |

((2+3)*(4/2))+2 using above Expression show step by step process for matching parentheses

using stack data structure.
Q15. Pythonﬁ Udh URITH fTRIT RTRTH I?‘gll Palindrome @ T <Tal | 3

Write a Python program to check whether the given string a palindrome or not using deque.

311dT / OR
Quene 3TN stack BT JefT PN

Compare and contrast queue with stack.

Q16.Uh DI H YA & FHI B bl 19 STl SIrdl 2 | b UrH ford
ST U T Dl RIS Y H iR B | 3

During admission in a course, the name of the students are insert. Write a program to store every

name in ascending order.

312147 / OR
i%#ﬂ Qﬂéﬂ Eﬁ Gﬂlilél h¥ ﬁ shHdg N Eﬁ %’K’selection sort algorithm%’lﬁl

Write a selections sort algorithm to sort a list in ascending order.

g — ()

SECTION -(D)
IBERCIREREG]

Essay type question



Q17 Linear Fd UIITH &1 ITANT A Y GEildhe I 8 DI &l TS List [42, -2,
32,8,7,9,42,3,8,44) H WIS | T8 PIAT Position TSR 3R BT AT 31
BT 4

Use the Linear search program to search the key with value 8 in the list having duplicate values

such as [42,-2,32,8,7,9, 42, 3, 8, 44]. What is the position returned? What does this mean?
31dT / OR

T& Num List & 7 elements © [8,-4,7,7,0,2,9] 9 Num List § 89 7 @IS & |
Linear search Algorithm P T forg |

Assume that the num List has seven elements [8, -4, 7, 7,0,2,9] so n=7. We need to search for the

key num List =7. Write The step-by-step process of using Linear search Algorithm.

0.18 DBMS & ¥R ITALRUI hI U HIfoTY | 4

Describe Key Concepts of DBMS.
31e1dT / OR

Relation b oI W‘IU'T jIUﬁ CAMGIE aﬁml

Describe Three important Properties of a Relation.
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gRleTefT WY 3799 U UF UR 30T AT Jffrardd: ford |

Candidate must write first his/her Roll No. on the question paper

compulsorily.

T UeT B B 1A g |

All the questions are compulsory.

D UeH BT IR a1 g IR GRADT § &1 ford |

Write the answer to each question in the given answer-book only.

51 Ul § 3R WS 8 SHd SN Udh il &l ford |

For questions having more than one part, the answers to those parts are to

be written together in continuity .
U B IR o q Yd U DI HHih Ja fold |

Write down the serial number of the question before attempting it.

9o U & 241 9 SfUSll ®UMRT H BT UdR &1 Ffe /3R /
fOREm™T 89 WR 21 9N & U &l dal q1 |

If there is any kind of error/difference/contradiction in Hindi & English

version of the question paper, the question of the Hindi version should be

treated valid.
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SECTION-A
ggfddhedrcid Ue (i xviii T)
Multipe Choice Question (i to xviii )
(i) SQL % count function, .............. =T <l © | %
(A) Values (B) Distinct Value
(C) Group by (D) Columns

The count function in SQL returns the numbers of

(A) Values (B) Distinct Value

(C) Group by (D) Columns

(i) SELECT ROUND(153.678, 1] daXI &1 @11 R 8RIT ? A
(A) 153.6 (B) 153.67

(C) 153.68 (D) 153.7

What will be returned by the given query ? SELECT ROUND (153.678,1)

(A) 153.6 (B) 153.67

(C) 153.68 (D) 153.7

(iii) 89 digital foot print f&d® gRT =1 ST Ahdl © | A
(A) Visiting any website (B) Sending email

(C) Positing online (D) All of the above

Our digital foot print can be created by -

(A) Visiting any website (B) Sending email

(C) Positing online (D) All of the above

(iv) PANDAS &T 31ef 8 %
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure

PANDAS stand for.
(A) Panel Data (B) Panel data system

(C) Pandas Data Structures (D) Pandas NumPy Data Structure

(v) HETRll & FHTad W A AT S B & oY fd¥ Function &1 YT b Srar 21 %

(A) Mean() (B) Median()



(C) Mode() (D) Count()

Which function is used to find the middle numbers from a set of numbers ?

(A) Mean() (B) Median()

(C) Mode() (D) Count()

(vi) Plot ST \iReI® T RIS <1 & oIy vy fhar Sirar @ 98 © A
(A) Bar (B) Line

(C) Histogram (D) Box plot

Plot which is used to given statistical summary is

(A) Bar (B) Line

(C) Histogram (D) Box plot

(vii) Matplotlib TfeT TEaT & 7 %
(A)1D (B)2D

(C)3D (D) All of above

Matplotlib is .......... plotting library

(A)1D (8)2D

(©)3D (D) All of above

(viii) 99 UST 5 99T BT ST B 91T ST § 2 A
(A) XML (B) JAVA

(@Xe (D) HTML

Web pages is created using language

(A) XML (B) JAVA

(€c (D) HTML

(ix) fefStea ug fore wufed 8id & ? A
(A) Temporarily (B) Permanently

(C) For 7 days only (D) For 3 days

Digital footprints are stored ..............

(A) Temporarily (B) Permanently

(C) For 7 days only (D) For 3 days

(x) Fr=ferRad # & f9 topology H wicad &1 qRI &g H Tl dlell U ddhd dael sl
g Y

(A) Star (B) Bus

(C) Mesh (D) Tree



Which of the following topology contains a backbone cable running though the whole length by

the network .

(A) Star (B) Bus

(C) Mesh (D) Tree

() P ————— BaIE BT ST fF /ard ueflRid o+ & forw fhar Siar g1 %
(A) Showing (B) show

(C) Display (D) screen

.................. Function is used to display figure chart.

(A) Showing (B) show

(C) Display (D) screen

(xii) fSwree wu ¥ plot() ------------- =S A 2 | %
(A) Histogram (B) Bar graph

(C) Line Chart (D) Pie Chart

By default plot() function plots a............. .

(A) Histogram (B) Bar graph

(C) Line Chart (D) Pie Chart

(xiii) Aggregate function 81 & — A
(A) Max() (B) Min()

(C) Sum() (D) All above

Aggregate functions are

(A) Max() (B) Min()

(C) Sum() (D) All above

(xiv) Record &7 TEMAT BT & (o7 SYART {haT W dTell HHIS © | %
(A) Update (B) Add

(C) Update all (D) Nun of above

Perform's pattern the command used for modifying the record is -

(A) Update (B) Add

(C) Update all (D) Nun of above

(xv) BT A U B B folg B SQL B I8 BT SUINT a1 S 2 | A
(A) Maximum (B) Most

(C) Upper (D) Max



Which SQL keyword is used to retrieve a maximum value ?

(A) Maximum (B) Most

(C) Upper (D) Max

(xvi ) fFr=feRaa # & sQL aggregate function % | %
(A) LEFT (B) AVG

(C) JOIN (D) LEN

Which of the following is a SQL aggregate function ?

(A) LEFT (B) AVG

(C) JOIN (D) LEN

(Xvii ) Python # x-axis BT <ldd < &= @ foT¢ 91 Function &1 SUINT & & %
(A) xlabel() (B) set_x()

(C) x_axis() (D) xaxi()

Which function is used to set a label for the x-axis in python?

(A) xlabel() (B) set_x()

(C) x_axis() (D) xaxi()

(xviii ) 391 & F9S1 & §9 T H § I o | A
(A) Online shopping (B) Online banking

(C) Online Education (D) SURTaT T

In this era of digital society, we can do

(A) Online shopping (B) Online banking

(C) Online Education (D) All of the above

Q2 Rea vt &1 ofif @i (i x dD)

Fill in blanks (i to x)

(i) fmT 1 <icad H & HFYSR Bl Hal Kl § ------------ %

The main computer in any network is called as ............... .

(ii) HRICR H JATRT BRI HEA 2 | A
..................... is the act of unauthorized access to a computer.
(iii) TP SU T TP SQL IIHAfdd g | O™ ............ TH I SQL AT W WG TAT | 14

A Sub query is an SQL expression that is placed ........... another SQL Statement.



(iv) Select query T —-----mmmmmneeeeev clause 89 URUTH H ®ad Il Ul BT T B DI AR
<dl & Sl Usp e erd &l gRT Rl @ | %

The ............. clause of select query allows us to select only those rows in the result that satisfy a

specified condition.

(V) o I6q BT ISUANT dTferdt H Bl record &1 AeHd &R & forg far Sirar 1 %

The term ............... is used to refer a record in a table.

(7) —— ITeq BT SYANT d1fetdT H fHAT field ®I Hafia &=a & forg fovar iar 21 %
The term ....coccueeeene is used to refer to a field in table

(vii) for=ft aer & @IS A9 foreign key 8 IfS a8 fhll o e H oo, ol Bl %
An attribute in a relation in foreign key it is the ................ key in any other relation.

(711 ®T IUIRT data frame I FAGH A9 JafRid 1 & feiq fbar Sirem = | %
................. is used to display the minimum values from the data frame.

(3 I & computer & ST 3 RIM AT HFgex dl WAl U™ a’adl 21 %
A, is computer that provides serious to other programs of computers.

(x) Digital foot print ......cccoveveeeee. B AUBNd 8l © | %

Digital foot print are stored ...................

Q3 A FTIARTHD U249 (i x qh)
Very Short answer type question (i to x)
(i) 1 famat & forg eRfavs gRT U <IAaw 8 UeRRid &1 & fog Statement forg | 1

Write the statement to display the minimum marks obtained by Arvind in limit test for all subject.

Table
Name Unite test | Math’s | Science | S. St. Hindi English
Arvind 1 15 22 25 22 21
(i) Missing value &1 319 &7 FHSTA & 7 1

What do you understand by the term missing value.
(iii) "Rajasthan" 1% ¥ &R ST BT BT SQL statement forRd | 1

Write SQL statement to count alphabets in word "Rajasthan"



(iv) DT ReT o farfl €1 18 RET & I%e I 9o &l 8¢ & d1g, Red &y #
IUART AT T 2| 1

Which SQL string function is used to returns the given string after removing trailing white space

characters.

(v) Pandas &1 SICfdd ®R- & folU wHIS g ford | 1
Write command line to install Pandas.

(vi) Legend &T &IT 32T & 7 1
What is the purpose of a Legend?

(vii) {59 topology # S®dIF wdel BIdl & S GY "cdd H dddl ©° 1

Which topology contains a backbone Cable running through the whole length of the network?

(viii) 'Cyber Crime' ¥ &I Adcld &7 1
What is meant by the term 'Cyber Crime'?

(ix) 'Cyber Crime' {1 &7 Hdeld § ? 1
What is purpose of the grid() in Malplotlib?

(x) 'Cyber Crime' § &1 dded & 7 1

What is Plagiarism?

YUs ¢
Section B
FAYRIHD YT
Short answer type question
Q4. SQL command | I~ 3MT3cYe ford | 1%

Write the output produced by the SQL Commands
SELECT POW (2,5)

Q5. SQL TN ¥ I~ 3MIeYe ford | 1%
\Write the output of the following SQL queries
SELECT RIGHT('MATHEMATICS', 5);



Q6. Series ® MBR H MY RIT FHST T 2
What do you understand by the size of Series?
Q7. Dataframe, 2D array ¥ fbd YR fa=1 2 ?

How is it Dataframe different from a 2D array?

Q8. SQL FI ¥ I 2ASeye forg ?
Write the output the following SQL queries SELECT LENGTH ("Gurpreet")?
Q 9. Data frame.quantile() @I TRIMYT H7 |

Define the terms Data frame.quantile()

Q10. SQL TR | I~ 3MMScYe forg ?

Write the output of the following SQL queries
SELECT RIGHT ("SCIENCE", 3)

Qll. 9991SS AR 99 UST ¥ <R 18y ?
Differentiate between Website and Web page.

Q12. Copyrights 3iR Patents # 3R IdT8Y |

Write the differences between Copyrights and Patents.

Qi3. Phishing&ﬁ'\’ Fraud, s‘—ﬁa H arax forRau |

Write the difference between Phishing and Fraud Emails.

YUs I

Section C

ISR S U

Long answer type question

Q 14. Single row function 3R Aggregate function § ®Is aI 3f<R feTRaU |

Write any two differences between Single row function and Aggregate function.

31aT / OR
BT TOT 9 MY R FHI B |
What do you understand by Cartesian Product?
Q15. U A1 & ic ST Bl URATNT @ |
Define Plotting Pie chart.
317d1 / OR

1%

1%

1%

1%

1%

1%

1%

1%



Plotting scatter chart &7 TRWTRT & |

Define Plotting Scatter chart

Q16. TP SETERTT BT FERIAT H Group by T TR BT THST |

Explain the concept of Group by with help of an example.
372041 / OR
Data analysis % 37#19 U HgaqUl AR I B

Why estimation is an important concept in data analysis?

e
Section D
IRECIRICRCEE
Essay type question
Q1l7. I8l Student AR & FTAR
(A) Student RO 9
(B) @t BT UaRId & |
(c) aRvlY B BHEl & qUf HAMAR TSR & |

(A) Create Student table.
(B) Display the total number of students.
(C) Display Student Name in Ascending Order.

Table: Student

SCode SName SMarks SSubject

So1 GURPREET 82 ENGLISH

S02 ARVIND 65 MATHS

S03 MANOJ 54 COMPUTER

S04 RAVINEDRA 65 ECONOMICS

S05 NARESH 48 BIOLOGY

S06 SAKSHI 89 BIOLOGY
31741 / OR

Using the sale table from CAR SHOWROOM database
SALE

INVOICE NO | Carld CustID SaleDATE PymentMODE Emple

SALEPRICE




1001 D001 Cooo1 14/09/2024 | ONLINE E004 632470

1002 S001 C0002 12/12/2023 | CREDIT CARD EOO1 590312
1003 S002 C0004 15/01/2024 | CHEQUE EO10 604000
1004 D002 Ccooo1 11/11/2024 | BANK FINANCE EOO07 569982
1005 EOO1 C0002 16/04/2024 | CREDIT CARD E002 639310

1006 5002 C0ooo03 20/03/2024 | BANK FINANCE EOO07 620214

faghy arferar &

(A) TD UTRD ERT WG T8 BRI BT AT USRI BT |

(B) afe uEd 71 faw TIferdT & T & 31fdd HR TGl ® A TR T8 BRI S TS 3 S
IR H=r uelRid & |

From Sale table

(A) Display the number of cars purchased by each customer from the Sale table.
(B) display the customers Id and numbers of Cars purchased if the customer purchased more than

one car from Sale table.

Q18. 4
TABLE: PRODUCT

Item Company Rupees usbD
TV LG 12000 700
TV VIDEOCON 10000 650
TV LG 15000 800
AC SONY 14000 750

4 T3 IRON dreae & fow fa=ferlRaa Python Code fo1ReT |
(A) SIRIGT difetd! & foTT data fram 99 @ forq |
(B) LG TV & IMfcH e &I YR &1 & foTy |

Assuming the given table: Product. Write the Python Code for the following

(A) To create the data Frame For the above table.
(B) To display the maximum price of LG TV.
32T/ OR
=1 g I | (i) ey (i) sgetp (i) @D fd=re

Define the terms: (1) Mean (ii) Mode (iii) Standard Deviation
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pe — 12t
fawg — arfwme
Iafer — 3 gue 15 fAFe quTi—80
1, I TG IAPIR—
Bkl SECED) SEIN gfererd
s 24 30
2. | 3rgdrEr 24 30
3. | SEYART 16 20
4. | drercd 8 10
5. | fawersor 8 10
JIT 80 100
2, Ul & UPR dR ABHR—
dEr | gfaue (afepT 1) (et RLp]
)
1 agﬁmﬁqzﬁ 18 1 18 22.5 33.96 27
2 | Raaeerm 6 1 6 75 11.32 9
3 aﬁaw 12 il 12 15 22.64 28
4. | THRIHD 10 2 20 25 18.87 40
5. | STEHSTRIA® 4 3 12 15 7.55 20
6. | FeuTH® 3 4 12 15 5.66 51
IIT 53 80 100 195
e
fdheq IrorT . Woe | UG T W 2
3. [I9¥ O @1 IPUR—
kst fawg g% SEN gfcerd
1| FEfe sy 8 10
(i) aR==
(ii) IR 3T BT A@Th
2 | g&T 3R dfeT 8 10
3 | MY 3R AR 8 10
4 | RPN doic 8 10
5 | gell srefeasen 8 10
6 | aftc 3Teme teh Ry 6 75
7 SUHTITT JdgIX 12 15
8 | SUTET TAT AN DI JAROMTY 12 15
9 | ol ufoug 10 12.5
(i) gof uferaet @1 Rafa & w9 &1 Rigr
(i) 9ToIR et
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4 IRBRI dolc 1(1) 3()* 1(1) 1(1) 2(1) 8(5)
5 @?ﬁ IrTawerT 11) | 11)| 1) 1(1) 2(1) 2(1) 8(6)
6 | e A
TP Ul 11) | 1D 1(1) 1(1) 2(1) 6(5)
7 IR FdER 1(1) 2(1) 1(1) 1(1) 4(1)* 3(1)* 12(6)
FATa d=A1
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CISINYINY
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RERID 24(20) 24(21) 16(6) 8(3) 8(3) 80(53)

famedl & o -— WU W TG T H YAD H UP AicdRD fAhcy 8 AIc—hISD B g8 P G&T ‘b’ & T 3ieR I & '9gHl @ s 2 |

IE < fiic daa died U9 99 &7 8, 98 &1 U¥F U7 iR TIgashd T4 3 AeHgar & 8 |
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Wil & forv g fAader—
GENERAL INSTRUCTIONS TO THE EXAMINEES:

1.

oRIeeft UM 319 YIS UR YAl AHIG AR for |

Candidate must write first his/her Roll No.on the question paper.

) wee arfard €|

All the question are compulsory.

% e BT SR &l T8 STR—gRdaT § &1 fold |

Write the answer to each question in the given answer-book only.

S Ul H o=iR® WS &89 H & SR U A1 & forsd |

For question having more than one part,the answers to those parts are to be
written together in continuity

U Bl IR [ | Yd YT Bl HATD T ol |

Write down the serial numgber of the question before attempting it.

Ueq U & fa=al 9 Sl wurRol H Bl ybR @f Ffe /3R / fRiem s g
TR R | & U Bl & A8l A |

If there 1S any kind of error/difference/contradiction in the Hindi & English
versions of the question paper, the question of hindi version should be treated
valid.



g — I3
Section - A

ggfddhedl U : [18x1=18]

Multiple Choice Questions:

) T SRS AN 3T SHAIHT, STRE TS Al J¥IDh Hd YHIId 8s 7 1
3) 1935 d9) 1936
) 1937 <) 1938

When was the book "The general theory of Employment, Interest and money"
Published ?

A) 1935 B) 1936
C) 1937 D) 1938
i) frifea & & wmfte sriors o vy o =8 8- 1

3) MM DA WX §)  HaT Wifd
H) QYW Bl Fded 3) SR

Which of the follwing is not the subject matter of macroeconomics-
A)  General price level B)  Monetary inflation
C) .. Consumer's equilibrium D) employment

iii) FforRad & | FHdl [G8F o < &1 R T8l o— 1
) g—dcled q) v wrEhREd Reaa(NFS)
) Wi BIF gRT M &) S9H 9 BIg 8l

Which of the follwoing is not a part of cashless transaction ?
A)  E-Wallets B)  National financial switch (NFS)
C) Payment by smart phone D) Cash Payment

iv) gaT 0T BT I &— 1
) 1/CRR 9 CRR
d)  1xCRR T 1-CRR



The formula for money multiplier is-

A) 1/CRR B) CRR
C) 1xCRR D) 1-CRR
v) afe AW SUMIT Uafd (c) =0.8 8 a1 M 9 Ygfd (s) &1 Jed BT — 1
) -08 9 08
q) 02 3) -02

If marginal propensity to consume (c) =0.8 them the value of marginal propensity

to save (s) will be-

A) -08 B) o0s8
C) o2 D)  -02
vi) Fraer &1 srgAifa o fFafora #ea FEdrr 8— 1
)  ardfas a9 9) U SuHT
) g Ader §) drIfde A9

Estimated or planned value of investment called -
A)  Real Investment B)  Anticipated Consumption

C)  Anticipated Investment D) Real Measurement

vii) freiifed & 9 BTSN B Bl FEIERT B — 1
3) 3 IR §) I eR
) - M Yoh q) SUBR &

Which of the following is an example of paper tax -
A)  Income tax B) Corporate tax
C)  Custom duty D) Gifttax

Viii) TSR FEKT AT H gfg B & forg ifehd § 9 fow Surg & & 4o

o B — 1

) A ghg §)  3T<IRYT H Herdl

) BRI H Herd 3  WEN JI H HHI



To increase aggrregate demand, the government uses which of the following

measures -
A)  Increase in taxes B) Reduction in transfers
C)  Reduction in taxes D) Reduction in government

expenditure
ix) Prifted # & Aol @i @ T S
) RO q)  fraw
| Hal §) 99 UF

Which of the following is an items of current account -

A)  Transfer B)  Investment
C)  Currency D) Bonds

x) T (o) fafrra <1 & sFaeia i < o gfg @1 @ed © —
o) e 9 e
W) e 9 giHe

Under floating exchange rtes, the increase in the exchange rate is called -
A)  Appreciation B) Devaluation
C) Depreciation D) Revaluation

Xi) MALIHAR BT oIl § AR Bl 28—

3) I q) IIR®H

) 3ifE® ]) i
Resources are in excess of needs -

A)  Unlimited B) Excessive

C) More D) Limited
xii) AT srefayaven &1 SqrEvTr 8-

) foeH §)  9Rd

) 9@ T w9



An example of mind economy is ?

A)  Britain B) India
C) China D) Russia
xiii) XRa® 7T 9% & Fg g W AW B Al gRfT —
3) e=0 9  ep>l
) ep=l T  ep=

A linear demand curve the elasticity of demand at the mid point will be-

A) ep=0 B) ep>1
C) ep=1 D) ep=
xiv) FIfRd & | 9] @1 79 & FaRe 8-
3) TR D DI q) ST DY M
) SUERTERIT BT AEET T) . Sugdad il
Which of the following is a determinant of demand for a commodity-
A) Price of commodity B)  Consumer's income
C) Consumer's Preference D)  All of the above

xv) G Rer arra fefa | & 2=

) wdA C) I |
) S g 3 T AP
Total fixed cost depends on the output -
A) Independent B) Dependent
C) Both of the above D) None of these
Xvi) =T SR b &l SMHR BTl & —
3) SecTU 9 U 3eR
W) HARRY 3) SRR
The Shape of marginal cost curve is -
A) Inerted U B) U Shaped

C) Level D)  Vertical



xvii) o7 UfoRuEl aoR # R @ dwd &1 FaiRe grar g 1
) wH §)
w) SE 3)  fawar
Determinants of price of a commaodity in a perfectly competitive market is -
A) Firm B) Buyer
C) Industry D)  Seller
xviii) T o @1 Reafa & grar 2 — 1
3) TR>TC d) TR<TC
) TR#TC T) TR=TC
In case of normal profit -
A) TR>TC B) TR<TC
C) TR#TC D) - TR=TC
2) Raa w= @1 gid s [6x1=6]
Fill in the blanks:
i) TATRIT SUFRT o TR TR el T | 1
Expected consumption depends on ..............ccccuc......
i) fafa germ omad @ SRR BT FEd T | 1
The difference between exports and imparts is called .................
1) CURGIRE: 2 G R 2 | 1
Currency IS a ..........ceee... of exchange .
iV) TR ARTT BT oo T ®ed T | 1
Opportunity cost is also called ..................
V) Seare Ui § ST A § uRafdq s & :
Convert inputs into ................. in the production process.
vi) Ifit I A qT & B B | 1

The supply curve is generally ............ Slope.



JAfTTERTHD YT [12x1=12]

Very short answers questions :

i) FATfe 3reiema # fvigedl &9 8ld § 7

Who are the macroeconomics decision makers ?

ii) TTe] @I qAT §9d WTd DI AN RT HEATl & 2
What are the deposits of current account and savings account called ?
iii) AT 9 ygfa wr gRWIiNT STy |

Define marginal propensity to save.

iv) PRI 3[oreh 1 TTOET T g oy |

Write the formula of output multiplier.

v) R gIiRes’ & AT=IdT &7 8 2

What is the assumption of ceteris paribus ?

vi)uRd # fo<ig 9 & Hmafr w8 ?

What is the duration of the financial year in India ?
vii) Gefl referasent fdy dad 2 ?

What is called an open economy ?

viii) T g1 ugad fhdl Ueh | &1 =9 forfy |

Write the name of any one Input used by the farmer.

iX) ST @b bl XT<H I3V |
Draw the diagram of indifference curve.
X) 3TTdTel Bl IRATRT HIFTT |

Define short term.

xi) Wi # TRl iR R & A o § @& aRads gem 2

1

What will be the change in the equilibrium price due to the right ward shift in

demand ?
Xii) AT | SMUHT wr AU § ?

What do you mean by revenue ?



10)

11)

12)

13)

yus — ¢

Section - B
TETRIHD Y [10x2=20]
Short answer questions:
AR SfJARIT H 3 & Il UaTs &l Areel 918y | 2

Create a model of circular flow of income in a simple economy.

afd C=40+0.84Y T2 | = 10 ®RIS B A YR T AT BT oI =1d
B | 2

If C=40+0.84Y and | = 10 crores then the value of expected aggregate demand
will be.
WRBR IoiEIg 61 B fad dryor 74 bRl 8 2 (IS o f9g foiikav) 2
How does the government finance the budgetary deficit (Write any two points)
STERIAT el Tl AR Hgeld H Big &l 948 DI | 141=2
Make any two distinctions between balance od payments and balance of trade.

ReR fafma &= @) gt & foRa fafa <3 gorrell or<s! 21 & ueT A Pl U
qd ST | 2

Give one argument in fovour of floationg exchanges rate system is better than

fixed exchange rate.

AGRIHS MG fI9eyor | 8T w7 FHsTT & ? 2
What do you understand by positive economic analysis ?

RN A & FEd © ? 2
Whay is an indifference map ?.

UAH @ Ufahd B Feg § e DI | 2

Briefly explain return to scale.

DI TAT STt H sl MR R Wg oy o9&l & ? 998y | 2
On What basis can a distinction be made between short term and long term ?
Explain.

o] URRUET @1 ®Ig &1 fARIvdg &1 Ieelkg HIfTY | 1+1=2

Mention any two characteristics of perfect competition.



Ylg — 9
Section-C

SrETRIHAS Je
Long answer questions:
14) f=ifrd aRBeARNT &I We B |
(i) Fhel TRl TG (i) Fehol IS IS

(i) TE oI TR g I TS
Explain the follwoing hypotheses.
(i) Gross domestic product (ii) Gross National Product

(iii) Net National Product at Factor cost

3dr,/ OR
frIfhd RS IATSI BT T HIFY |
(OKSEZSRBEL (i) i (iii) TraT8
Explain the follwoing hypotheses.
(i) Gross Investment (i) Stock (i) Flow

15)  RToRG UIRTAT TAT gofiord wiftaai @ 8 2 aR«Iid HifTe |
What are revenue receipts and capital receipts ? Define.
3ferar / OR
RISRE g G YoliTd 2 @R 2 ? gRAIia feiim |

What are revenue expenditure and capital expenditure ? Define.

[4x3=12]

1+1+1=3

1Yo+1145=3

16) 9 OISR & 5 U Bt & WId W, Ub SYATGIT 15 Pel WGl & | S1d PIod
% 7 9fd ®ol B WAl 2 Al SHPT HT UShY 12 hol N ol 2 df " Bl B

A DT ITOTAT DI |

3

Suppose at the price of Rs. 5 per banana a consumer buys 15 bananas. When the

price becomes Rs. 7 per banana, his demand falls to 12 bananas. Then calculate the

price elasticity of demand.



3ferdr / OR
=1 ARol # gt @1 ema @ Sd Sy
Find the price elasticity of supply in the following table.

Hq 3 dEA@fEI)®w | 92 78 "= (B Price of apple(Per k.g)Rs. | Quantity Sold( k.g)
p1 | 100 Q: |10 p1 | 100 Q1 10

17) FrrforRad |aRoflt 5 @o Gt qm A AU @ o s | 1%+1% = 3

Calculate the total revenue and marginal revenue in the following table.

et i T BT

0 10 = -

1 10 — —

2 10 — a

3 10 i -
aeraT / OR

THD DI HAT GAT Y dh 39 bR 8— q° = 1000 - P TAT @° = 700 + 2P A HJo
DI qAT A ATAT DI IV DITSTT |
The demand and supply curve of salt is as follow - g°= 1000 — P and g° = 700 + 2P Then

calculate the equilibrium price and equilibrium quantity.
gug — §
Section—-D
IBECIRICR R B [3x4=12]
Essay type Questions :-
18) I fAfFHa yorell &1 @1 ST © ? qaT f6d UbR 91 HHAAT B g Rl 87
e BT | 2+2=4

What are the drawbacks of the barter system? How does money overcome these

drawbacks? Review.



3qdr / OR
fFreifha @l AHsSy |
i) qDhE DY AU AT JTTh AR ATUT
i) XU &% TT R« U1 &%

Explain the following ?

) Cash reserve ratio and statutory liquidity ration.
i) Repo rate and reverse repo rate.
19) goIc W TAT IJFRMAN dgh BT TN B gY SUAIKI & STIH I Dl
XTHEATY | 4

How to explain the optimal choice of a consumer using budget line tand indifference

curve.
3qr/ OR

qART Ip | RIFe &1 AT HIfTT |

Explain the shift in the demand curve.

20) URGAT U 71" BT @I &I FEIdl | WL DI | 4
Explain the law of variable proportions with the help of a diagram.
3rerdr / OR
STE®TCAM iIT dRTT a2l THdhIee FANd dFTd I Y@M & Jghal 3 WK
PITY |

Explain with the help of diagram of long run average cost and long run marginal cost .
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DT — X1
vy — w1forg
Jgfer — 3 guer 15 e qurich— 80
1 I TG IAPIR—
5.4 SEGERD) 3[HIR yfarerd
1. |3 24 30
2. | 3rdqr 24 30
3. | STEI™ET 16 20
4. | PrETed 8 10
5. | faweryor 8 10
I 80 100
2. U9l & bR IR JhIR—
e gfa (afepT 1) (oot Ay
EkSl %)
1. | ggfdddrcAd 18 1 18 225 33.96 36
2. | Reaazem 6 1 6 75 11.32 15
3. | AfcreTeRIcHD 12 1 12 15.0 2264 42
4. | TETRIAD 10 2 20 25.0 18.87 40
5. | STOSTRIcHD 4 3 12 15.0 7.55 32
6. | FagTHD 3 4 12 15.0 5.66 30
T 53 80 100.00 100.00 195
e
faddou o : Wos | . Ud T H g |
3. A9y axg &1 IHHR—
EOksh [EEEICES! JHHR gfcerd
1 | A% U o 3 3.75
2 | ufaai™ BPeemrafd we 4 5.00
3 | 3R 5 6.25
4 | ARforH 5 6.25
5 | 9id Ug ddhol-Iad] 8 10.00
6 | Pl b ATUAN 6 7.50
7 | gHIBIA 12 15.00
8 | WHTheTHl & STIIANT 4 5.00
9 | dhH FHIHNOT 6 7.50
10 | afeer oErforg 7 8.75
11 | Bfodg sfafa 9 11.25
12 | YR grum= 4 5.00
13 | Tl 7 8.75
4T 80 100
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Bl
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favg: g (Mathematics)

PET— 12
1Y 39ve 15 fiFe quTi: 80
Wt & fog " e
GENERAL INSTRUCTION TO THE EXAMINEES:
1. ieeff Fduem iU W us R AMiG A ford |
Candidate must write first his/her Roll No- on the question paper compulsorily.
2. ¥ T R AR 7|
All the questions are compulsory.
3. U U BT IR & 5 IR JRABI H & o7 |
Write the answer to each question in the given answer book only.

4. RO g9t ¥ IR wWue & S I & IR U G o ford |

For questions having more than one part, the answers to those parts are to be written together in
continuity.

5. U3 BT IR T | Yd U BT HAid a9y ford |

Write down the serial number of the guestion before- attempting it.

6. U3 UF & fowal @ 3ol VR # Bl IR &I e /R / TR 89 &R
o= w9 & W29 Bl B TSk 7 |

If there is any error/difference/Contradiction in Hindi & English versions of the question paper, the
guestion of Hindi version should be treated valid.

7. U3 B 14 W 20 ¥ 3R dheq 2 |

There are internal choices in Question No. 14 to 20.



gus — A
SECTION-A

1. a’gﬁm =H (I_\q' xvi):

Multiple choice question- (i to xvi)

() s faforg f ageaa N ¥, R={(a,b):a=b-2,b>6}grr yeaq w==IR 2 | fF=ifafaq #

H HEl R AT 1

@) (2,4 eRrR @) 38 eR (9)(6,8) R @) ,7eR
Let R be the relation in the set N and given by R = {(a, b):a=b-2,b> 6} .Choose the correct

answer -
(@) (2,9 eR (b) 38)eR (c) (6,8 R (d) 8,7 R

(i) cotl(—%j & = A o— 1

(a1) % C)

Wy
€
|
ol
|

The Principal value of cot ( \/ngs
T T 57
(a) E (b) 3 (c) — (d) s
(i) A=[a,] uw o amege & Al — 1
(a) m<n @) m>n @m=n (@) A BIS &I

A=[a;] lsasquare matrix if -
(a) M<n (b) M>N (cpm=n (d)None of these

(iv)

2 W 24 1
1 2

The Value of

-1 2
(a) 0 (b) 8 (c) 6 (d)7
1 01
v) I A=[0 0 0| SATAZENT — 1
1 01

@) 2A @) —2A @A @) -A

1 01
IfA=[0 0 O]/ thenthevalueof AZis-
1 01



(a) 2A (b) —2A (c) A (d) —A
(vi) X& wmersin(log x) @1 e ¥ —

(ar)cos(log x) ©) w (H)w (g) tanx
The derivative of Sin (Iog X)With respect to Xis -
(a) cos(log x) (b) w (c) w (d) tanx
(vi) T® g9 @ FBsarr=6cm W X& AU %A H IRATT P TR T —
@10 = @12 = (98 7 @11~

The rate of change of the area of a circle with respect to its radius atr =6 cm is -
(a)10 7 (b) 12 7 (c)8x (d) 11 =

(viii) f (x) = 3X=8 AXSS, _ sux < A k B & -
2k afe x>5

2 3 4 7
3) — q) — q) = 3) —
© 3 @5 @, L@,
f(x) :{SX_S _if X= 35 continuous at X =5then value of K is -
2k if x>5
(a) 2 (b) 3 (c) 3 (d) -
a) — 4 C) — 'z
7 7 7 2
1-sinx
(ix j — OX T 719 & —
COS” X
(@) —tanx+secx+C (@) tanx—secx+C
(|) cotx—cosecx+C () —cotx+cosecx+C
1-sinx ,
The value ofJ. X is-
COS* X
(a) —tanx+secx+C (b) tanx—secx+C
(c) cotx —cosec X +C (d) —cotx+cosec x+C

() Tep Y’ =4X,y 31l Tq Ty = 39 R &5 BT &bl © —

@ @y @ @

Area of the region bounded by the curve y2 =4X, Y — axis and the line y=3Is-
(a) 2 (b) 2 (c) 2 (d) 2
a - C) ¢ -
4 3 2
2

(x) STaFHT TPy = ) FT B & —
1-xy




(@) xy—logy+C @ y=logx+C () y =log(xy) +C (@) s ¥
Bg &

2

The solution of differential equation y' = 1 Y is-
(a) xy —logy+C (b) y=logx+C (c) y =log(xy) +C (d) None of these
(i) (A—b)x(@+b)®r a9 & — 1

(@) 2(a+b) @2@E-b) @) 2(@xb) (@) T ¥ BT T
The value of (A—b)x (@ +b) is -

(a) 2(a+b) (b) 2(3—-b) (c) 2(axb) (d) None of these
(xiii) f.(jxk)+j.(fx12)+12.(ij)aﬂWg_ 1
(a1)0 @)-1 @1 @3

The value off-(jXK)+ j.(fle)+l€.(f>< j) is -
(a) 0 (b) -1 (c)1 (d) 3
fiv) TR =1 7]+ 7k b=37 -2 +2K Eaaxb|er 7 & -

@ 2419 (@)19 (@) 192 @)z | IS T

If ﬁzf—?j+7|€, 6=3f—2j+2l€thenvalue of‘éxﬁ‘ is -
(a) 219 (b) 19 (c) 192 (d) None of these
() forg P(X,),Z) T 2 311 & raaq g8 o—

Z

S) g @ VX +y (*)1 () 2

Perpendicular distance of the point P(X, Y, Z)from z-axis is-

Z 2 2
(a) \/m (b) X" +Yy (c)1 (d) z

(evi) er%’F’(A)%,F’(B)% SN P(AmB):% 2 P(%]aﬂ 7

4 7 5 5
(1) 9 @) 9 (ﬂ)g ) B
If P(A) = l,P(B) = gand P(ANB) = 4 then the value of P[é) is-
13 13 13 B
(a) 4 (b) ! (c) > (d) >
9 9 9 13

(xvii) GT U T 1T IBTA R Gt ANTHIAT I WTIawdT 2—



1 1 1 1

(37) 18 @) T (75)5 () 5

Two dices are drawn simultaneously. Probability to get total of 5 is-

@)~ (b) — ©x o =
7 18 12 “9 6

(xviil) U IRIR # QT 9= 2 | I I8 91d 81 & 9<ai § | &° 9 BH Udh dod] asdl

g, dl Tl 9=l b TSPl B P Udhdr & — 1
3 1 1 2
(31) 2 @) 2 (%) 3 () 3

A family has two children. Probability that both the children are boys, given that at least one of
them is a boy, is -

3 o1 1 .2
(a)4 (b) ) (C)3 (d)
2. Rep Il @ gfd HITT (13 vi)

Fill in the blanks (i to vi)

(i) sin'U® VAT BaTd & FTHBT T .ovevresiensensian 4 1
sintis a function whose domainis .....................
a -b -c
[iiYafcl-a b —c| +kabc=0TT K = ..ccormrrrrrrenee. 2 | 1
-a -b C
a -b -c
If |—a b —c| +kabc=0then k = ..ccovvrvrnneen.
-a —-b ¢

(iii)errret [1,5]% F(X)=X* —4x+8gRT Fawl et BT FRUeT IeaTH AT oovvvcvevnes
= 1

The absolute maximum value of given function f (X) = X* —4X +8in interval [1, 5] is

(iv) ILW B 1

X2+ 2X+2



N dy ) .
(V) JTaPheT FHIDRT] xd—+2y:x BT FHATDHAT OB corverirrrrrnns 2|
X

1

d
The integrating factor of the differential equation Xd—i +2y= XS crvererrersneanns

(viyarer(21 —3]) &1 TR 31 +2 ) TR T8, = 1

The projection of the vector (21 —3 ) on the vector (31 +2]) s weveevveeeeeeeeen

3. e TERRIHD T

Very short answer type Questions.

-2
() aA=[1 3 —6Jdem B=| 4|8 a1 (AB) B A ST HIO | 1
5
-2
IfA=[1 3 —6]and B=| 4 |thenfind the value of (AB) .
5)
(i) af A:‘: :‘% AladjA (FEEUVSTA) ST DI | 1
If A:‘4 5then find adjA.
34
(iii) g PINTT &b AGTTBR Her, (0,00) H FR=R e & | 1

Prove that the logarithmic function is increasing on (0,00).
_ dy
(iv) I y=rogcosx, el Fﬁ&ﬁﬁaﬁﬁﬂl 1

d
If y =/og cos x, then find d—)):

(V) e* @1 K& HTUeT Jqdhetd DIy | 1
Differentiate e™*with respect to x.

(Vi)TP ITe BIkSHRAT & [ A U Bl I HUAT FR(X) =3x* +36X+5% ugd &, o
X =15 FHNT AT TSI | 1

The total revenue in rupees received from the sale of x unit of a product is given by




R(X) = 3x* + 36X + 5. Then find the marginal revenue when X =15,
(viiy Sa aﬁﬁrmsz (1—%jdx 1
Evaluate: Ixz (1—%jdx
X
(viii) e wqerter § ga X’ + Y =9 7 ok & BT &b S BT | 1

Find the area lying in the first quadrant and bounded by the circle X+ y2 =9

(ix) Rig SR B Bem Y =X +2X+Caade TH@RI y'—2x—2 = 0FT & & |
1

Prove that the function Y = X* +2X+C is a solution of the differential equation
y'—2x—2=0

(x)ﬁﬂ%?ﬁéawﬁzﬁtrﬁqmm:\/gw 22 ek A.b=/6 & @ aqeur b s d @
DI T DI | 1

Find the angle between two vectors a and b with magnitudes \/§ and? respectively, having
a.b=+6.

(xi) g e Rerfy wfeer (21 — ] +4K), = IR dTell XET BT FIQL FHIDIOT ST DITTY
ot afee (i +2]—K) @ a2 | 1

Find the equation of the line passing through the point with position vector (Zf— j+4|2) and
its parallel to the vector (i + 2] =K).

%,p(g)-% @ P(AUB) == gﬁ?ﬁ P(ANB)sTa IR | 1

(xiiy RP(A)=
2 1
FindP(AmB),if P(A) " ( )=§ and P(AUB):E.

grs — ¢

SECTION-B

4. frg R 5 f(X) =X +58RT ved oM f : R > RIS 2| 2

Show that the function f : R —> Rgiven by f(X) =X’ +5is injective.

5. f=ferRad Bel &7 Ixeldd wu # forfRgu | 2



tan COS X —Sin X 7z<x<37r
cosx+sinx )’ 4

Write the following function in the simplest form.

4 4

tan-: COS X —Sin X 7z<x<37z
cosx+sinx )’ '

G.WWWUT[SX+7 > }:{0 y_z}ﬁXHﬁTyaﬂﬂﬁﬁﬁWI
y+1 2—-3x 8 4

Find the value of x and y from Matrix Equation FX 7 S } - {O y- 2}

y+1 2—-3x 8 4
X 2 3
7.3@x=-1 1 x 1|=0% 9o © Al 39 FHIBROT & ¥F &l Hall Bl ANT ST DI |
3 2 X
2
X 2 3
If Xx=—lisarootof 1 x 1|=0, then find the sum of other two roots of this equation.
3 2 X
8. Sin(cotX) &1 X AMEl TP S BINT | 2

Differentiate Sin " (COt X) with respect to x.

9. gy =sin*x+sin"y1-x?, 0<x<1er Fﬁ%?ﬂﬁ BIRTY |

. ’ d
If y=sin"x+sin"v1-x*, 0< x<1then find d—i

10. Rrg AR 5 R ¥ fRar a1 ware f(X) = X —3%° +3x —100 qefamr & 2

Prove that the function given by f (X) = X° —3x® +3x-100 is increasing in R.

11. ST HINTT jex(l—ijdx 2

X X
Evaluate: jex(l—%)dx
X X
12. 3G y=3x+2, X—30&T d DA x=-19 x =19 R &7 &7 &9%d A1d DIY | 2

Find the area of the region bounded by the line y = 3x + 2,and X —axis and the ordinates
X=—-landx=1.



13, <erisy 5 afewr 2 — j+K, 1 —3] —5K ok 31 —4] — 4K va wpror fuqer @ <t @1
AT PR B | 2

Show that the vectors 21 — | + K, I -3]- 5k and 31 — 4] - 4K form the vertices of a right
angle triangle.

Yug— J
SECTION-C
14, ST BIRTY IL 3
' 7-6x—X
dx
Evaluate: I 5
7—-6X—X
3ferdr / OR
2X
Sd dIfoly | ————dX
Ix2 +3X+2
2X
Evaluate: | —5————0dX
X°+3X+2
15. ara@el W e tan ydx + (1-e*)sec? xdy =07 faftre g1 sma @R | 3

Find the general solution of the differential equation €" tan ydx + (1—e*)sec” xdy = 0
34T/ OR

el THIHR] cos(%j:a (@eR); y=13 x=0,® I B arenl fARre
gl ST DI |
Find the particular solution satisfying the differential equation cos (%J =a (aeR); y=1
ifx=0.

16. 9 AT BT AHIBRYT ST DI ST 975 (—2, 4, —5) F WA 2 3MR =T
X+3 y-4 7+8

3 5 6
Find the Cartesian equation of the line, which passing through the point (-2, 4,-5) and

P AR B | 3

X+3 y-4 z+8
3 5 6
31fdT / OR
<uisd & 1375(2,3,4), (-1, -2,1) 3R (5,8,7) W ¥ |
Show that the points (2,3, 4),(-1,-2,1), (5,8, 7) are colinears.

parallel to the line given by

17. 99 fias R T 2 [ve Riadh & <A &R o 2 IgexT Rigat sifieia & o o



75%9R UdHe Bl & AR TRT sMfEa Riadr g1 dFl 7 & U Riaa o1 argee
T AT 3R BT AT 2| Al e R R gave gLl & wiiedr 2 fF a8 <
3R o aretm &7 3
There are three coins. One is two headed coin (having head on both faces), another is biased coin
that comes up heads 75% of the time and third Is an unbiased coin. One of the coin is chosen at
random and tossed,it shows head, what is the probability that it was the two headed coin?
34T / OR

31 S UH g ¥ 397 gfoRenfud fay fFrarell Sl 81 91a § 10 Hrell @R 8 ot
S 2,ar wiiehar ST aifoTg—

(i) ST W ofrer @

(ii) g ®Tefl 3R A e 27 |

(iii) 7o el 3R T Tl 7|
Two balls are drawn at random without replacement from a box containing 10 black and 8 red
balls. Find the probability that:
(1) both balls are red.
(i) First ball is black, and second is red.
(iii) One of them is black and other is red.

YUs—q
SECTION-D
(1 1 )
18. I(—— zje *dx ®T HIF ST I | 4
T\UX  2X
2
Find the value of I(l— 12je”dx
TAX  2X
3Idl / OR

log (1+ tan x) dx T |9 Sl HITSTY |

Ot~y

T

Find the value of ng (14 tan x) dx
19, Yl r:(4f—0j)+ﬂ(f+2j—2|2) AR T =(=J+2K)+ p(2+4]-4K) & mea
BT AT BIFY | 4
Find the angle between the lines T = (41 = )+ A(F +2] - 2K )and
r:(f—j+2|2)+ﬂ(2f+4j—4|2).

AT / OR

et F=(+0i+(t+2)]+@+20K aiR F=(s-1i +(2s+1) |- (s+Dk & &ra o
=LITH X S DI |




Find the shortest distance between the lines whose vector equations are
F=+t)i+(t+2)]+@+2t)Kand F =(s—1i +(25+1) ] — (s +Dk.

20. 71 @RI} & A Z =3x+5y &I FATHIDHRIT HITTT |

X+3y >3,
X+Yy=2,
x>0

dqAqr y >0

Minimize Z =3x+ 5y under the following constraint.

X+3y >3,
X+Yy=>2,
x>0

and y>0

3JdT / OR
T R & T Z =3x+ 2y P AMABAHIBRYT BT |
X+ 2y <10,
3x+y <15,
x=0
qAqr y >0
Maximize Z = 3x+ 2y under the following constraint.
X+ 2y <10,
3x+y <15,
x>0
and y>0




UIT—UF & AT 2024—2025

Her —12th
LRI ICININS|
Ay — 3 e 15 fAe quTi—80
1 JEaey B b IR—
%4 SECED) SICRIN gforera
1. |39 25 31.25%
2. | 3raqrr 25 31.25%
3. | SEOERT 15 18.75%
NS 07 8.75%
5. JIIYU 08 10%
AT 80 100%
2, Ul & UHRAR AHHR—
dEr | gfaus (afepT 1) (oot Ay
1)
1. | sgfadbedr® 18 1 18 22.5% 33.96 35
2. | Raaq wm= 6 1 06 7.5% 11.32 12
3. | rfrereeRIcH® 12 1 12 15.0% 22.64 30
4. | TETRIHAD 10 2 20 25% 18.87 50
5. SIS TR D 4 3 12 15% 755 38
6. IBERIREZ 3 4 12 15% 5.66 30
AT 53 — 80 100% 100 195
fime
fadwey are T . Wre W ud T H 2
3. v a%] 1 3ich HR—
. fawg g% 3[HHN gferera
1| WIS oI He—3TEIRYd 3TAERUMY 07 8.75%
2 | GISIGRI BH $I JHGT—HISIGR] Bl Yol 11 13.75%
3 | ArEENl BH BT gIST—aTgaR] HI At /g | 11 13.75%
4 | ARIERT ®H & fqged 06 7.50%
5 | 3% YSll @ folY oRdidhd 12 15%
6 |ZRUT AT oI FAT 15 18.75%
7 | HO @ faxi fqaRor 04 5%
8 | olgTh Igurd 06 7.50%
9 | hs Ydrg fdarv] 08 10%
AT 80 100%




Y03 U< 2024—2025

HeET —12th g o g 3 g9 15 fie qurih—80

. ST EIG| SCCI) STIRINT Do fagemor AT
. | g /SUSHS
1 | ATEIER

T ThT—3TERY 12) | 10 12) 2() 7(6)
2 | AR B B

IS A—ATSIGRT 6T 1(1) 1(2) 1(1) 1(1) 1(1) | 2(1) B@* 11(8)

LK)
3 | ATEIER B &7

GG —ATSIERI BT | 1) 1) 1) | 10 2(2) 41y 11(7)

SEUREISVA !
4 | ARIERT ®BH BT

R 12) | 1) | 1) 2(1) 6(5)
5 Wﬁ Q\Gﬁ @ o (1) | 1(1) 1(2) 2(1) 2(1) 4(1)* 12(7)
6 | FUT UAl B A 1) |10 | 10 | 2 1(2) 1(1) 2(1) 4(1)* 15(10)
7 | @ faRi

R 1(1) 3(1)* 4(2)
8 | IITh U 1(1) 3(1)* 2(1) 6(3)
9 | APs JaE fqaxv] 1(1) 1(1) (1) | 2(0) 3(1)* 8(5)

AT 10(10) | 5() | 56) | 2(1) | 3(1) 77 | 1) | 66) | 8(4) | 3(0) 1(1) 1(1) |10(5) |3(1) 3(1) | 4(1) 8(2)
GEDIU 25(22) 25(19) 15(8) (2) 8(2) 80(53)

el B AT — TWvE | @ T F U ¥ TP AT b & Ne—Hod & qeR B W AP B qAT e} B W@ uE D dad 2
g & fic daa dfed U 93 &7 &, 9 &1 Ued u3 FuiRa ureasH 19 sid dieMgar & 8rm |
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Senior Secondary Examination, 2025
AT 9S-I
Model Paper
fovg — RS

Sub : Accountacny

| ;03 TC 15 e quTieh : 80

I AT =
1. URIETIT gAY 79+ YT UF WX YA AHIb Jfarid: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. ¥ U B B AR B |

All the questions are compulsory.
3. U U BT IR al Ty IR YRADT H & ol |

Write the answer to each question in the given answer-book only.

4. f59 gt 9 IR Wvs & e SR Uh A1 & ford |

For questions having more than one part, the answers to those parts are to be

written together in continuity .

5. U3 BT IR ol A Yd U9 &l HAD aed ford |
Write down the serial number of the question before attempting it.

6. U UF & fgwal d IS HURY H Bl ydR &l Ffe /3R /
fIREMTT 8 WR f@=<! A9 & U9 &I Fal 1 |
If there is any kind of error/difference/contradiction in Hindi & English version of
the question paper, the question of the Hindi version should be treated valid.



s — A
Section - A
ggfamedl U : (i d xviii)
7T Ul & SR BT HEl fddhed T B ITR—YRAHT H foffRay |

Multiple Choice Questions: (i to xviii)

Answer the following questions by selecting the correct option and write them

in the answer sheet.

i) EER] ol & 3T ¥ AEeRl & "5y fdae @ Rafd § te AEer gr

HH Bl AU Y 0 WR fhae ufcrerd &1 v 9 1ol fQar SiR— (1)
) 6% 9 8%
) 4% q) §o &

In case of dispute betweem partners in the absence of partnership deed or other

agreement, what percentage of interest will be paid on the loan given by a partner to

the firm.
A) 6% B) 8%
C) 4% D) None
ii) U AEeR BH # Rer goft ugfa # Ud® AERR & Yol @il o | gk
a— (1)
<R C) I
¥ | ] IR

In a partnership firm, in the fixed capital method, how many capital accounts

are opened of each partner in the books-

A) One B) Two
C) Three D) Four
iii) T & IUTd BT GF T — (1)

) GRIAT IFUTd — AT 3T §) T IgUTd— YR IUTd

H) YR STUTT + AT 37T T)  SWiK H ¥ By T8I
The formula for calulating sacrifice Ratio is-

A) Old Ratio- New Ratio B) New Ratio-Old Ratio




C) Old Ratio+New Ratio D) None of the above
iv) fHdl T AeieR & Yaw R URFERiEl § g8 Jod dia B fawmar sme— (1)
3N) -8 W & AH Ul §  §) AH—8I+ WId & S|l geT |

H) YD Wi & AW UeT H €) YAqedIDd Wi b Hl uE H

At the admission of a new partner, increasing value of any asset will be, written
in the-

A)  Debit side of profit and loss account

B)  Credit side of profit and loss account

C)  Debit side of revaluation account

D)  Credit side of revaluation account

V) T TSGR & Yd UR YIhi H I iid @id @l @& BT Bl ST

gfafte &1 SRAfT | (1)
) =IfY W AW 9) QR HIEERI & Yol @Td A

QR WISIERI & Yoil @i =T @ |
W) T WEERI & Yol @AM J) TIfd @ A\

I @ A U AERR & Yol @rd |

On the admission of a new partner, what journal entry will be made to close the
existing goodwill'account in the books.
A) Goodwill account Dr. B) Old partner's capital accounts Dr.
To old partner's capital account To goodwill account
C) New partner's capital accounts Dr. D) Goodwill accounts Dr.

To goodwill account To new partner's capital account.

vi) FeR, iRER 3R d9R U@ ®H H 531 & IUd d HEER & | O

ATTI B SIaT 2 | 3 fhdl o & i H, AR iR FReR &1 a1
TSI ST 8T — (1)
) 35 9 53 g) 51 3 15
Natwar Girdhar and Taruwar are partners in a firm sharing profits in 5:3:1 Ratio.
Taruwar gets retirement. Without any other information, profit sharing ratio

between Natwar and Girdhar will be-



A) 35 B) 53
C) 51 D) 15
vii) BIIR & U DI TUET B Sl & — (1)
)  WEER @ §g W
d) U AEIER B Ad-gid W)
)  EER & A oM QTS STUTd gRadd dRe IR
T) SR 9Hl

Gaining ratio is calcutated at the time of-
A)  Death of a partner
B)  Retirment of a partner
C)  Change of profit sharing ratio among partners
D)  All the above
viii) U@ TSGR RT Goll &1 3MfEed T Adhs! Mdbled IR S+a ufafie @t

STRAfT — (1)

3) IR BT Sl @Rl AH q)  WEER & Yl @ qMm
T BN @ o d% @ |

[ APs W AH Q) Mgl Erdr 9M
AEIGR @ Yoll @ | ARGR & Goll @ |

The entry for withdrawal of surplus capital by a partner will be-

A)  Partner's Capital Account Dr. B)  Partner's Capital Account Dr.

To Profit & Loss Account To Bank Account
C) Bank Account Dr. D)  Profit and loss Account Dr.
To Partner's capital Account To Partner's Capital Account
iX) TP AEeN! BH & faged W 96 AfRfdey & saraRd & — (1)
) IUdbs G H 9 db @A

) 9Ygel @ | T)  AEERI & Yol @l |



on the dissolutioan of a partnership firm, Bank overdraft account will be
transferred to -

A)  Cash account B) Bank account
C) Realisation account D) Partner's capital account
X) U ATSIERI BH & fdued uR IR—3fffelRad SRl &1 YA &)+ WR |
QT B M fhar SREm— (1)
) % @ Bl 9  9gel @ Bl

F) oM™ BN " Bl T) TS W Bl
On the dissolution of a partnershir firm, on the payment of non-recorded
liabilities, which account will be debited-

A) Bank Account B) Realisation account

C) Profit and loss account D) Revaluation account

xi) T fofics 9 RRIEm fiffcs | 4,80,000 H U& A TRIG! g9 Yol YT
H 10 . 9Tl AT 39 20% WHIH W AT feu Smarer @i @1 Gwan
Brfl— (1)

37) 48,000 37T 9) 60,000 3°T  ¥) 40,000 37er <) 50,000 39T

Namaswee Ltd. purchased a land from Girisha Ltd. for Rs. 4,80,000 In full
payment, Namaswee Ltd, issued equity shares of Rs. 10 each at 20% premium.
Number of share issued will be -

A) 48,000 B) 60,000 C) 40,000 D) 50,000
xii) I Pl SRR, HFIAT BT 37N IR AT AT BT FB A T T
YA AR 9 94 &1 BR <dl © o $9 07 BT Hed & — (1)
3) BT HINT AL q)  IRH AFT AR
W) *Mde T)  3Mded Wi

Sometimes share holders pay a part or the whole of the amount of the calls not

yet made. The amount so received from the share holder is called as........
A)  Calls-in-Arear B) Calls-in-advance

C)  Application amount D) Allotment amount



xiii) R (F) & AR IHMET AN W AT HI J9R fHar SREm — - (1)
) 10 % 9 9%
g 8% 3 6%
Interest on calls in arears is charge according to table 'F' at -
A 10 % B) 9%
C) 8% D) 6%
Xiv) T fIAce o 14,40,000 Hed & IR\HITAT WRIAT | HFT 9 100 %, drel
8 % UF 4 % dcc W, Hd UAhd & wU H gl YIrdE =g PR g |

fashar @1 SR fhT T T gA B AT Bl (1)
3) 14,400 d) 15000
) 16000 <) 15400

X Ltd. purchased assets for Rs. 14,40,000. It issued 8% debentures Rs.100
each on 4% disount to vendor in full payment. The number pf debentures will
be-

A) 14,400 B) 15,000

C) 16000 D) 15,400

xv) URTTT 0 Gl ®I 9cc W AT Jal fhar o daar, afe — (1)
31) Je dchld & gRafid BT 8l 9) I= dobld ol gRafid el fhar ST
W) 31 9 9 &l & uRRerfaar | T) SWAd H A B3 el
Convertible debentures can not be issued at a discount, if--

A) They are to be immediately converted
B) They are not to be immediately converted
C) In both (A) and (B) Conditions
D) None of the above
XVi) 0T UF IR U HRd & — (1)
31) 4 q) dHEer W) faREr 1) |
Debenture holders receive-

A) Profit B) Dividend



C) Rent D) Interest

xvii) IfT Feoro=t BT gee w AT fear srar § a1, f6d @ o 9 fear s

g7 (1)
3) 37 W deel Tl q) FT Al R Il Gl
W) dcel &l Q) o™ —gI+ QT

If debentures are issued at a discount which account is debited ?

A) Discount on share account B) Loss on issue of debentures account
C) Discount account D) Profit and loss account
xviii) FoT y=t & FAURie fenfa & w7 # e @ Ruafa ¥, afy vfafe & o @
ar foa @ & 9 fhar S ? (1)
31) T @rar ) ST G @l
W) FUTaE Sdd @l ]) d& @

In the case of issue of debentures as collateral secutity, which account, if entry is
made , will be debited ?
A) Loan Account B) Debentures Account

C) Debenture Suspense Account D) Bank Account

2) Raa ™l @ gfid ST (i Hvi)
Fill in the blanks: (i to vi)
i) TSRl & Aeg faRad 9T o FHEATT B | (1)
GIEEREIEIR YA E MR CEEE)

A written agreement among partners, containing terms and conditions, is called

............... (Partnership act / Partnership deed)
ii) fp aaraarye eI g§RT 9T U &1 &% 4 31fd ufawe 3ifoid &=

@ AfSD T BT FEd T | (fer /<) (1)

If a business organisation earns more profits than its normal rate of return.

Its monetary value is called .......... (Goodwill / credit)



iii) FaTgd WIsleR & B3R @ @ifd B Afyfd [Teme dEeR ...
TS H B | (@ /@) - (1)

The sahre of goodwill of a retiring partner is compensated by the contuning

partners in their .......... ratio. (Sacrifice / Gaining)
iv) IR BH & fdged W A G9d & AT B FRIARA fhar ST
2 (1)

(agel @ ¥ /|AEERl & Yol W H)

At the dissolution of a partnership firm, amount of general reserve will be
transfrred to............. ( Revalution account / Partners capital account)
V) I 3M ST AT & I AT goll & g AT & Haeg H Bls DR T8
RECIS| A 31T PEAd 2 | @™ /\an) (1)

The share, that has not preferential right in the payment of dividend or repayment
of capital is called...................c.. (Equityshare /Preference share)

Vi) I FOUF ST Yai §RT BTN BId & S8 .. F0T 95 dEd 21 (1)

CIEEWANIE)
The debentures, that can be transferred merely by way of delivery, are

called........... (Bearer debentures/ Registered debentures )

3) SffcrereTRIcAd U9 « (i A xii)

Very short answer type questions : (i to xii)

i) S—eI e @A | 99T SiTar 89 (1)
Why is profit and loss appropriation account created?
ii) TSGR 3R ARIGRI BH § a7 3R aagy | (1)

Write any two differences between partnership and partnership firm.,

iii) T2 SR G R & AEIER & | 9 Fe Dl 1/4 91T b ¢ Ya9r < © |
JAD Y AT IIUTT DI ITOET HITY | (1)

Rakesh and Suresh are partners of a firm, profit sharing equally. They admitted

Mahesh for 1/4 share. Calculate their new profit sharing Ratio .
iv) TR 3R HRT 211 & U § UF BH & WEIGR ® | 9T e # yder ol
2| S T o U= ® -1 @i &1 AW 99 30,000 ®. ¥ | AT



T BT AR @1 S wfafte BTy | (1)

Radha and Meera are partners in 2:1 Ratio. Reena enters as a new partner in
firm. On that day debit balance of profit and loss account Rs. 30,000 is

shown in the balance sheet. Give journal entry to close the profit and loss account .

V) TS~ I R 8 7 (1)
what is Hidden goodwill ?
Vi) Th BH & faTed IR B ® g 0T iR WEeRl | v Y ke § 9 fhd
FEOT BT A g AT SR ? (1)
On the dissolution of a firm, which of the loans taken from other person and the

loan taken from partner will be first paid ?

vii) 3791 Td 0T U § PIS T R I8y | (1)
Write any two differences between share and debenture.

viii) R FoT & R a7 2 (1)
What dou you mean by secured debentures ?

iX) T BFT B Jore—us § V8 Bl SUigy | (1)
Show Inventory in the balance Sheet of a company.

X) =Tef, T BT = ffag | (1)
Write formula of current Ratio.

Xi) RIhg g faaxer @ 7 ? (1)

What is cash flow statement?
Xil) SRIT—HFH—3 D FIAR Abs FaTg qarvl BT IR B 8 fhaATherdl Pl
fheae @it # gEffepd fovar T g 2 9m forar | (1)

According accounting standard -3 , how many categories of activites to prepare

Cash Flow Statement are classified ? Write Name also.

yug — 9

Section-B

clgTdNIAHD URA -

Short answer type questions:



AT iR AT U@ wH H AIEER 21 1 U 2021 BT IAh Goil @Tdl & AT HH:
3,00,000 3R 4,00000 . ©| 1 FAT=R 2021 HI HAT 7 50,000 F. AfTRFT Yoil
SRS AT 1 SIFaT 2022 BT AT 71 50,000 %. Yol ¥ aral folg | 31 AME 2022 &I
10 Ffcrerd a1fies &gl @1 &) W QT AEIERI B Yol R &A1l &l RRT &I T
ISy 2)

Sita and Gita are partners in a firm. On 01-04-2021 balance of their capital account
are 3,00,000. and 4,00,000 respectively. Sita adds extra capital Rs. 50,000 on 01-09-2021.
Gita withdraws Rs. 50,000 from his capital on 01-01-2022. Calculate Interest on
capital @ 10% p.a. for both partners as on 31-03-2022.

T BH B T —d¥ 2019—20, 2020—21, 2021-22, H A 30,000, 35000, T 40,000
®. o | ®BH @ Yol 1,50,000 ®. B 2| AT W G T B R 20% B
fUsel 9 aul & AT AT & 3 T & HA D IMIR TR WA BT A IO
DI |

Profits of a firm for year 2019-2020, 2020-21, 2021-2022 are Rs. 30,000 ,
35,000,and 40,000 respectively. Total capital of firm is Rs. 1,50,000. normal rate of

return is 20%. Calcualate value of goodwill based on 3 years purchase of super
profit of the firm. 2)

e, |RAT 3R AT Th BH H WISER & | 9 3:24 § oY [ &=l 8 | gad
JAgd B S § | BH B gwIBl § A 40,000 ®. @A TS 7| @A B
qedIdH 1,00,000 % [T a1 2| Ao # fidr ok IRAT |9 rgurd | o
TSI N1 | 9 ¥ T @l YRddl | ASl qWRT S | Hargh W)
I BT TR STl gfafkear BT | )
Priyanka , Sarita and Suman are partners in a firm sharing profit in 3:2:1 Ratio .
Suman gets retirement. on that day, value of goodwill is shown in balance sheet Rs.
40,000. on the retirement , goodwill is revalued for Rs. 1,00,000. In future Priyanka
and Sarita will share profit in equal ratio. At the retirement of Suman, give
necessary journal entries for treatment of goodwill. In future good will Account will
not be shown in the books.

ARIER BH & faged iR IR @ fdged # I8 IR R 9aisy | 2)



10)

11)

12)

Write any four distinction between dissolution of partnership and dissolution of
partnership firm.
A AN F AT RIT FH & | SE18RY gRT ALY | (2)

What do you mean by undersubscription? Give one example.

§9d 21 7N fofics 9 BIvsr ged 9 3,80,000 . &I @I UH HINA HA D |

qal ¥ 50,000 . BT g YA a1 AT AR AY AR & oIy 100 5. d1el 3fe

BT 110 . R feifaa foar | (2)
SRIFT FGERI I g9l zdl 7N o1, B GxIdl H AsHrHen ufaftedr sify

Bansal Heavy machine Ltd. purchased a machine for Rs. 3,80,000 from Honda
Traders. As per purchase agreement Rs. 50,000 were paid in cash and balance paid
by issue of shares of Rs. 100 each for Rs. 110. Give necessary journal entries in the
books of Bansal Heavy Mchine Ltd. ?

. fafics 7 ta. fafdcs & 9,00,000 %, & UREHRAT W& TAT 7,00,000 %.
DI RIRIT DI TR 41 @l | 29 R & 100 %, AP & 8% RUUH FAGH
W gAfd @ O R g @ e gRaet # eravad SHemfaftedt BTy |
()
M.Ltd. purchased assets from S.Ltd for Rs 9,00,000. It took liabilities for
Rs,7,00,000 aslo. It issued 8% debentures of 100 each at par in favour of S Ltd.

Give necessary journal entries in the books of M.Ltd.

3fafe @ giedIv § ROMF fba- YR & 8l o7 74 fof@d g¢ ¥9emsy|  (2)

How many types of debentures are there from the viewponit of duration? Explain

by writing their names ?

=e] U 3:5 T | BRIl Yol 90,000 . ® | ATe] IR\ qAT dre] a1l
B IR BT IReber BIRTY | 2)
Current ratio 3:5, Working Capital 90,000. Calculate sum of current assets and

current liabilities.



13)

14)

he YaTE faaRor 999 & oY darsy | (2)
Write benefits of Cash Flow Statement.

g — 9

Section-C

STEISTRIAD Y« (SR 2eq AT T 100 I1<3)
Long answer type questions: (Answer word limit approx: 100 words)

X 3R Y U BH H HEER © | STHT oM fI9S U 21 & d 31.03.2021 &I Z
BT 1/4 9T & fT0 U9 T <0 B 1 Z 50,000 6. FHhE oIdbR AT =, FTFH 10,000
. Wfd 7 T 2| wfd B N B WEER] T TP SMENu B] o |

31.03.2021 BT BH BT Tl IS 71 THR o— (3)
31.03.2021 BT Gl
TR NIkl gREERTET NIkl

e 20,000 | B XHS 10,000

T fau= 10,000 | 9P hS 20,000

RG] 10,000 | fafder T eR 10,000

goil—X 1,00,000 BSIED 20,000
T v 50,000 1,50,000

BTN 30,000

T 1,00,000

1,90,000 1,90,000

7 P YdI IR JAGID STol Ufafed] ST |

X and Y are partners in a firm sharing profits in 2:1 Ratio. They admitted Z on
31-03-2021 for 1/4 share in profits. Z brings Rs. 50,000 cash including
Rs.10,000 as goodwill. Old partners withdraw share of goodwill in cash.
Balance sheet of firm was as under-

Balance sheet as on 31-03-2021

Liabilities Amount Assets Amount
Creditors 20,000 | Cashin hand 10,000
Bills payables 10,000 | Cash at bank 20,000
General reserve 10,000 | Debtors 10,000
Capital- Stock 20,000
X 1,00,000
Y 50,000 150,000




Furniture 30,000
Machinery 1,00,000
1,90,000 1,90,000
Give necessary journal entries at the admission of z.
3121q1/OR
TdH BH BT 31.3.2021 B o I3 74 UBR &—
31.03.2021 T JeId—YA
TR RUE] gRFATIT RUE]
fafder e 20,000 | TR DS 3000
Pl STGR 12,000
31— 30,000
§— 20,000 50,000
Tih 15,000
EEIEN 10000
e 30,000
70,000 70,000

g BT Yd9 f3ar a1 iR = Aoy forw 7w

1) I BLHBH D T | 1,/6 9T & oI 15,000 7€ G 5,000 . TIATfT B AR
AT |

2) [P & HA H 10% HAT DI T3 AR W BT I 40,000 . 3BT 1T |
3) BHlER BT Fod 8000 EiRa fovam |
BH Bl GaHeAIh WAl 3R ABGRI & Yoil Wi d418y |
Balance sheet of a partnership firm is as under
Balance sheet as on 31-03-2021

Liabilities Amount Assets Amount
Sundry Criditors 20,000 | Cashin hand 3000
Capital Sundry debtors 12,000
A— 30,000
B— 20,000 50,000




Stock 15,000
Furniture 10000
Buillding 30,000
70,000 70,000

1) C brought Rs.15,000 in cash as capital and Rs. 5,000 as goodwill for his 1/6 share

in the firm.

2) Value of stock was reduced by 10% and builliding was valued at Rs. 40,000

3) The value of furniture was estimated as Rs. 8000

Prepare revaluation account of the firm and partners capital accounts.

15)  HHN STAFTIA 2013 Bl ITFAT 11 & 9T | & STIAR TP HFAT & JoAT—F Bl

EISSERCRIEIN

Draft format of balance sheet of a company as per part | of Schedule Il of the

company act 2013.

3127q1/OR
Uh HEAT B AR fIaRoT & I3 BT WHSSU |

Explain objectives of making financial statements of a company.

16) AT (@) @1 g @) & AT e HIY —

T (31)—oldTeh=T 31uTd

A (@) /=

() AT SraTd

(1) gadr IrguTd

(i) =Irey SrguTd

(@) fepameiierdr srgura

(iii) TR e U

()07 e eTHAT T

Match List 1 and 2 .

List-1

List-2




17)

(i) Proprietory ratio A- Liquidity ratio

(ii) Current ratio B- Operating ratio

(iii) Inventory turn over ratio C- Solvency ratio
31d1/OR

Tdh ATARI SATT 40,000 F. BT ILTIPh IGAT 8 | SABT Fid 3MMad AT 8 I[oM
2| I 98 UaTeld | STH W 20% oM WX 99T & af Adhd ard &I IR @l
T N |
A trader Keeps an inventory of Rs. 40,000. His inventory turnover ratio is 8
Times. If he sells goods at a profit of 20% on revenue from operations, find out
the gross profit.
31 A1 2023 B Yo fafics @1 fad g 500,000 . o | 9 & SR g
2,00,000 % O, W B URAWRRL Bl & U 50,000 . bl oM g oA
AT faRoT # ARG BR (ST 7| a9 & SR AUTRS YIiqal H 40,000
S BT gfg g SR AR <IdT 7 60,000 %. DI Il g8 |
el Afy @& gRT yaTed Shatdhamdl & e Ydie &1 IR ofd dIfTu— (3)
X Ltd. earned ata net income of Rs.5,00,000 for the year ended 31 march 2023.
Depreciation for the year was Rs.2,00,000. There was a profit of Rs. 50,000 on
assets sold which was transferred to the statement of profit and loss. Trade
receivables increase during the year Rs. 40,000 and trade payables also increase by

Rs. 60,000. Compute the cash flow from operating activities by the indirect

approach.
3121d1/OR
A T T8 SIMBNI W AT BT & ol b A &I T BIfTg—
ICEEI RUE
URYT H Yefaar 40,000
SRINESR 1,60,000
Iid # efaar 38,000
URY H AMUTRE <IdTY 14,000
3d ° AUIRe SIdIu 14,500

From the following informations, you are required to calculate the cash paid

for the inventory-



Particulars Amount
Inventory in the beginning 40,000
Credit parchase 1,60,000
Inventory in the end 38,000
Trade payables in the begining 14,000
Trade payables in the end. 14,500
Yls — ¢
Section-D

faeTH® Ued ¢ (IS AT 200 IT<G)
Esssy type questions : ( word limit : 200 words)

18)  CIOd, TSI AR IO ARIER 8| IAHT o™ {9 3rurd: 2:2:11 21 31.03.2021

P g U3 4 R B | @)
31.03.2021 BT ol —uA
SR UK gRTERIAT RUEI
EERCICICER 20,000 | BN bS 10,000
= Ao 30,000 | 9B Vhg 10,000
Sl TR 30,000
Tg% — 50,000
AqHI— 40,000
IoTe— 30,000 1,20,000
Tih 30,000
BHTER 30,000
T 60,000
1,70,000 1,70,000

f&=Tes 01.07.2021 PI (B DI Fog & s | S a7 Wi 3R HrireR Bl Hedih
10% A febaT 1, We bl HeATh= 70,000 . fhaT TAT | I DI JeAThT 50,000 .
fepar T |
&1 01.07.2021 &1 JTHEH WAT AR JHY BT Yol FTaT 18 |
RIH & 3R BT ART BT AGY DI A BT Tba YA PR &A1 AT

Deepak, Rakesh and Rajesh are partners in a firm. Their profit sharing Ratio is 2:2:1

on 315t march 2021 Their balance sheet was as under -
balance sheet as on 31.03.2021 &I JeII—UA

Liabilities Amount Assets Amount
Bank overdraft 20,000 | Cashinhand 10,000
General reserve 30,000 | Cash at bank 10,000




Capital Debtors 30,000
Deepak — 50,000
Rakesh— 40,000
Rajesh— 30,000 1,20,000
Stock 30,000
Furniture 30,000
Building 60,000
1,70,000 1,70,000

Rakesh is dead on
10% Building is valued Rs. 70,000. Goodwill is valued at Rs. 50,000. Rakesh's

share is paid cash to his wife.

01-07-2021 on that day. Stock and furniture is under valued by

Prepare revaluation Account and Rakesh's Capital account.

31Jq1/OR

31 W19 2021 P IAMRNY, IRL R A & Jad T3 59 UBR 2| AR A

faToT oruTd 3:3:2 ¥ | @)
31.03.2021 T JeI1—YUA
TR MUK gR¥RRT MUE
gl q™ 5,00,000
MY — 7,50,000
- 6,50,000
TEIY—.5,00,000 19,00,000
fafaer oFerR 50,000 | Ya+ 4,00,000
ATI—T T 1,00,000 | FIF T AL 9,00,000
PR 60,000
fafayr T eR 80.000
RS 1,00,000
NEaS 10,000
20,50,000 20,50,000

feTe 01.05.2021 BT XA = WA of off | 99 & <Rl g gRewREl o
eI 1+ UbR fdhar 11—

Ieldh— 90,000
TR — 50,000
I3 g TN — 8,60,000

93— 8,00,000
ST BT el 1,50,000 foar 14T |



& 01.05.2021 BT JTHIH WAl G A BT Yoil Wil I18Y |
Ashish, Ravish and Tanish are partners sharing profits in ratio of 3:3:2 . on 31%
March 2021. Their Balance Sheet was as under.

balance sheet as 31.03.2021

Liabilities Amount Assets Amount
Capital Land 5,00,000
Ashish — 7,50,000
Ravish— 6,50,000
Tanish— 5,00,000 19,00,000
Sundry creitors 50,000 | Building 4,00,000
Profit & Loss account 1,00,000 | Plant and Machinery 9,00,000

Furniture 60,000
Sundry debtors 80.000
Stock 1,00,000
Cash in hand 10,000
20,50,000 20,50,000

Ravish retires on 01-05-2021. Assets and liabilities were revalued as under-

Stock — 90,000
Furniture — 50,000
Plant & Machinary — 8,60,000
Land— 8,00,000
Goodwill is valued Rs. 1,50,000
Prepare Revaluation Account and partners' Capital Account.

19) XM VU8 HHA felfics 9 10,000 373, 100%. 9Tl UAG 37 & A 10 Ui
WNATH R fbar [T a5 R § HRA7 o | (4)
3AET—20 .

JMGCHA—50 &. (40%.+10%. UITHIH)

JH H—30%.
3faH ANT—10%.



T 9T RET U 81 s, Ry Ue 3RYRG STae grT 200 319 9, ifaH AT
BT A T8 DR FhT | IHD M2 BT BT B fordT TAT| S99 A 150 372 Qi
®I 75 ®. YT I W YAFEIHG W QA T

A B GBI H ARSIl Uit Hifoiy |

Ram & Company Ltd. Issued 10,000 equity shares of Rs. 100 each at 10 %

premium . The net amount payable was as follows:-
On application Rs. 20
On allotment Rs. 50 (Rs. 40+ premium Rs. 10)
On first call Rs. 30
On Final call Rs. 30
All the calls were received except one shareholder, holding 200 shares did not pay
final call. His shares were forfeited. Out of these 150 shares were reissued to Sonia at Rs.
75 per share fully paid up.

Give journal entries in the books of the company.

3712741/OR
A9d6 dicd IS 7 . 100 Ud alol 6000 THAT 3 & 20 Ufaerd Ny o=
i @ forr foaxror uf¥er Y #Re smded qi o A R ?¥ 2—

)

3T IR —20 .

e R —50 %. (NfH afzq)

I {1 TR —30%.

S AT TR —20%,.
10,000 3R & foly A U gU AR 8000 3T & ATAGT DI JATIUNT AT
T AT AT AW I{TASDH] bl SADBT NI ATIA AT &1 TS | ITded W I 3fdh
R &7 e W < R A [N fHar 13 |
A2 FSFbT 300 T BT 3fde fhar AT o, 3fded g ART AR Y de
H B YET| IFd AT BT U DR (ol AT Bl B &bl H ATaID
Ser gfaftedt g |




20)

Ronak cotton Ltd. Issued a prospectus inviting applications for 6000 equity shares
of Rs 100 each at a premium of Rs.20 per shares, payable as follows-

On application Rs. 20
On allotment Rs. 50 (Including premium)
On first call Rs. 30
On Final call Rs. 20
Applications were received for 10,000 shares and pro-rata allotment was made to

the applicants of 8000 shares and their money recived in excess on the application
was adjusted towards the amount due on allotment. The remaining applications
being refused and their money was returned .

Rohit,To whom 300 shares was allotted, failed to pay allotment and call money,
his shares were forfeited.

Give journal entries in the books of the company.

U fofAcs 7 5 % WIAIH R 100 . UAd & 10,000, 10% K0T UF fF=idq qTam
R i fhg—
50 %. 3MMIGT W, 55 %. 3fdeT X Hiffaw & a1 <u 2|
| O U UG SAEd I8 SR R GERINT UTG @I TS 3MaeAd ST AT
yfafteat ST qem qor—u= & goifsy |
A Ltd issued 10,000, 10% debentures of Rs. 100 each at a premium of 5% payable
as follows: -
Rs. 50 on application
Rs. 55 on allotment with premium.
The debentures were fully subscribed and all money was duly received.
Record necessary journal entries and also show in the balance sheet.
31e1q1/OR
=T @1 Ta folfiics @1 gl | 3Maedd Si-iel Uidfsedl &1 dlfoTg—
() 150, 7% YA /. 1000 UdH FUH 5% dcc WX FRIHAT By 77|

(i) 120, 8% FEUT U 1000 %. UAP FUIOT B 5% WH R ifaa fed 1o
You are required to pass the journal etries relating to the issue of the debentures in

the books of X Ltd. Under the following cases :



) 150, 7% debentures of Rs. 1000 each issued at 5% discount.
i) 120, 8% debentures of Rs. 1000 each issued at 5% premium.

Q-
&
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ey —12th
AT —qar ey
3@y — 3 |ve 15 fiFe qurih—80
1, I TG IAPh IR—
H . SECRD) IHIN gfaerd
EE 24 30
2. | 3rgdr 24 30
3. | S9N 16 20
4. | PIITA 8 10
5. | fagergor 8 10
I 80 100
2 Ul B YHRIR JhIR—
d&r | ufausd (afepr 1) (oot Ay
)
1. | 9gfdmearcHD 18 1 18 22.5% 33.96 44
2. | Red M= 6 1 06 7.5% 11.32 15
3. | AfcreTeRIcA D 12 1 12 15.0% 22.64 29
4. | THRIHD 10 2 20 25% 18.87 49
5. | QrHISTRIH® 4 3 12 15% 755 29
6. | fAeeaTH® 3 4 12 15% 5.66 29
T 53 N 80 100% 100% 195
e
fdhed AT : WUs ' Td & § o—
3. fdwg a%g @r 3ip AR-
Gk fava o PR gfcerd
TRI—31 g & Rgid IR BRI
1| 999 @I gpfd Td g8 6 75
2 | ey & Rigia 7 8.75
3 | IIAIIe TN 3 3.75
4 | e 6 75
5 | e 8 10
6 | (Figfdderor 7 8.75
7 | fdem 8 10
g | =T 5 6.25
T 3 50 62.5
TT—d g o @ik faqo
9 | FaalRIe foa<d yeed 11 13.75
10 | fauorg 11 13.75
11 | SU9TAT ARETT 8 10
IJNT 30 375
HA AT (371 +7) 80 100
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HET —12t faw —og9ar gy |9g 3 "¢ 15 e qurih—80
@ L o SErIC] STHIIART Brerd fareersoT QT
1 girzﬁ S e 21) 1w 1w 1(1) 6(5)
2 | vag 3 fgla 11) 301) o 2(1) @
3 | AIIAS GAR 131) | 2(2) 3(2)
4 1(1) 3@ 2(1) 6(3)
5 | TS 1(1) 3(1) 1) 1) 2(1) 8(5)
6 RIESEQ 1) | 1) 1(1) 3() 1(1) 7(5)
7 B 1) | 1) 12) 4(1) 1(1) 8(5)
8 | a3 2(1) 10) | 1) 1(1) 5(4)
9 oty 11| 1) 4(1) | 1(2) 1(2) 2(1) 11(7)
10 | fa 2(1) 12) 12) 1(1) @ 11(7)
11 | SUHTIIT ERE] 1(1) 1(1) 2(1) 11) | 1(2) 2(1) 8(6)
AT 3(3) 3(3) | 7(7)| 8(4)| 3(1) 6(6) | 1(1)/1(1)] 2(1) | 6(2)8(2)] 29 | 22 | 3(3)| 2(1) 1(1) 3(1) 4(1) 8(4)
GERIL] 24(18) 24(13) 16(15) 8(3) 8(4) 80(53)

et & AT — o T TG T ¥ UAP § [ RSP b & Ne—pISd D e Pl W& ‘3Pl &) qor ek & &7 ggr @ aOdsd 2|

I5 <« fiic daat Aied 9 93 T &, NS &1 0¥ v FHiRa urgasd 19 3fd AeHgaR & 8 |
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AT 9S-I
Model Question Paper

Oy — a9y gy

Sub : Busness Studies

| : 03 T 15 fiFe Ul : 80

A= e —
1. ORISR gdYed 9= YT UF UX U] AP AaRid: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. T UTT BA B AR € |

All the questions are compulsory.
3. U U BT IR &l Ty IR YRADI H 8 o7 |

Write the answer to each question in the given answer-book only.

4. TS gt § IR Wos g I SAX Uh A1 & fordd |

For questions having more than one part, the answers to those parts are to be

written together in continuity .
5. U @] SR _folg-T | Yd U &1 hHlD Jaed ford |

Write down the serial number of the question before attempting it.

6. U UF & foval 9 Sil HURY H Bl ydR &1 Ffe /3R /
foREmT 89 R fe=a 99T & UeH BT A8l °H |

If there is any kind of error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.



yvs — J

Section - A

1) dgfdbedredd U : (i 9 xviii)

Multiple Choice Questions: (i to xviii)

i) frfaRaa # & gl e &1 SemERe 2
3) TAURE 9 R
) e T)  BEER
Which of the following is an example of convenience product-
A)  Toothpaste B) Car
C) Jewellery D)  Furniture

i) 999 BT PR F9 TR & YdeId B o—

31) I WR q) T RR
) g RN ) SURIGd 9l
Which level managers do co-ordination work-
A) Top level B) Bottom level
C) Middle level D)  All of the above

iii) 9ell & 37dRe i H AMPAA & —

) UGl q)  yoler g
) A= ) ROFR B
Internal sources of recruitment includes -
A) Promotion B) Waiting list
C) Advertisment D) Employment office
iv) 372 R S™IY &R H HHI BT g1 3N & dIIR oI IR FIT YATd
TSl B (1)
31) ISR eI 9ol @ q) 9NIR Hed $HH BT &

) 9o Heg Rer v&dr @ 3) 9K Hed ¥ & ST ©



What is the effect on the market price of these shares of the dividend rate

decrease on shares-
A)  Market price increases
B)  Market price decreases
C)  Market price remains constant

D)  Market price becomes zero

v) 7T T & g S9 Reridl R fIuR &1 a=afieRr @ el faarei=
R3IT / Har & oI BIAT B (1)

) Th RIS B H BH d) T RIS ®© A Ud BRIS ®. qD

d) URE RIS ©. 4 99 RIS ©. db 1) T hRIS ©. H AH

The District commission has the jurisdication of the complaints on the complaint

where the value of goods/services under consideration is-
A) In than rupees are crore B) Twao crore to five crore
C) Eleven crore to twenty crore D) More than fifty crore
Vi) e ufshar &1 gUH RO B -
3)  dad IR g B P U
) RuiféT wdy o 7) MR

The first step of organigation process-

A) Duties determination B) Identification of task

C) Determination of reporting relationship D) Departmentalization

vii) SaTE & Hifae fadazer # snfie 81 8 — (1)
3) uRasA q)  HUSNU
) Wy g )  Sdred

Physical distribution of product not incudes -
A)  Transport B)  Storage
C) Inventory control D)  Production



viii) J9¢ BT AR B— (1)

)  HiTed )RS L

| FEE g) e

The essence of management is-
A)  Organising. B) Co-ordinating
C) Controlling . D)  Planning

iX) URMET §RT SHART @& B9 [0 H Jfg & dhdl o— (1)

) B §)  &Har

d) A T) SURIET 9l
What properties of employee can increase by tranining -
A)  Skill B) Capacity
C) Ability D) All of the aboe

x) for4 fo<i SAd @1 Yadd oRld. Jaicid w9 W 3186 el 8 S9a Ui aar

BT YT B STl B—— (1)
3  PA q) e
) g  SWiad |

The attraction of the financial source, whose enforcement cost in comparatinely

high, to business becomes -

A) less B) More
C)  End D) Not affected
Xi) BIA I oG DITAT 0T ARS8l o— (1)
31) ggelu q) MAMIINT ) oI dTel T) AR P
Which quality is not necessary for efficient leadership -
A) Initiative B) Confidence C) long hair D) communication skill
Xii) UTEHI B TTT UIATRIATRIT &7 SIS fayoE &7 IdT fohar 28— (1)
&)  fa=m= q) TSR

W) fasm HagH q) Jufade fama



Conducting competition for customer is a which kind of marketing activity -

A)  Advertising B)  Storage
C)  Sales promotion D) Personal selling

Xiii) SUHTERIT DI YT AMTHRT H eMAS T8l 5— (1)
) GRE & AfTPR q)  gIIl Bl IAEBR

W) SuHradn R &1 SifYeR T) AT IR oM @1 IfEER

The rights obtained to consumer not includes -
A) Right to safty B) Right to information
C) Right to get consumer education D) Right to make false allegation
Xiv) U499 T fasm 2 darfa— (1)
d) AT AMGATGAR SUART - 9) FdeR d IIARABAT IR AR
H)  Ueful WR IR Rigld 3)  Hgifde 9 BT 8T

Management is a science because-

A)  Personalised use of ability B) Based on behabiour and creativity
C)  Testing based principles D) Theoretical knowledge
XV) UM ET6H & 9T A § — (1)
3)  PIY AMGCH H B q) T | B
) SRRl T) SN TR G W IfYd e

The main defect of departmental organisation is -
A)  Difficulty in allotment of funds
B) Lackness of co-ordination

C) Instability
D) More attention on the work incharge than the institute
xvi) YT & wR B & — (1)
37) IR q) = ) & T) U=

There are packaging levels -
A) Four B) Three
C) Two D) Five



xvii) f=0T @ URURS dH-di | MAA T— (1)

31) oruTa faweryor q) fafanT w ema
W) gy g i HENCCABPEL
Traditional techniques of controlling include -
A) Ratio Analysis B) Return on investment
C) Management informationsystem D) Budgetary control
XViii) o7 FHAT UTT B ITUET BT G o— (1)
) FT/HAT 9) 1/ 9Te, SR

A) ol GEUREN /AT FURET €) ol MR /Ty Rl
The formula do calculate debt equity ratio is-
A) Debt/Equity B) Debt/Current liabilites
C) Total Asscts/Current Assets D) Total liabilities/Fixed assets
2) Raa el @ gid ST (19 vi)
Fill in the blanks: (i to vi)
i) JMITIHAT &1 A ARV BT RIGTT. T ga foa
Need hierarchy theory of motivation presented by ~ -------------- :

i) SHATRAT Bl ST I 7 Hooe qITaROT g7 |

Giving prper salary to employees will create a ---------------- environment.

iii) FRIATHROT & TROT H AT MR SMIIBARN BT ATher fdar

In the-----====----mmnmaeee step of staffing manpower requirements are assessed .
iv) FRIFOT & Td e e & gor @l SRl 7 |
In controlling ------------------------ and actual performance are compared.

V) GOl REAT 3T AT T e & s 9 2

The capital structure refers to a mixture of owner's and --------- funds.
Vi) STHTEIT 20T &1 fohard Fadqr B Bfd BT BT 2 |

Consumer exploitation actions -------------- the image of busimess.



3) JAfTTERIAD U © (i ¥ xii)
Very short answer type questions : (i to xii)
) & BT 3P oIfdd RN dEd § 7 (1)

Why does management called intangible power.

i) JeT &7 BT AT TR fhad g1 I=gd Bl T3 ? (1)
Fatigue study concept of management presented by whom ?
iii) IR fa<ig Urcaes & 11 Q1R Sy | (1)
Give two examples of non-financial incentives
iv) RgeIaxor @1 aref iy | (1)
Write the meaning of demonetistation .
v) e &1 o fog @ g ? (1)
What is the focal point of planning ?
vi) PR & - aread g 7 (1)
What is meant by authoritry ?
Vii) HHAR] & R H GRS HU IR &1 fHar Srdr 7 2 (1)
What is done by professional company in an employee placement?
Viii) I g AT (69 JHR FAM S5 Bl Ui § FER-IDb © 7 (1)
How perquisites and dividend are helpful in achieving the same purpose ?
ix) FRIFT H GURTH® BRAE! &I Aaegdhdl 71 ISl & 2 (1)
Why controlling requires corrective action ?
X) T TRl S el [ TeR & Fdl | B Ay ? (1)

What kind of sources should be arranged for fixed assets ?

Xi) SIS DI BT HRETT TS 81 S R I T HEdl © 2 (1)
What is brand called after acquiring legal protection ?

Xii) SUHIHT & FGAdIs & ADHR DI ARG B & foly FgATis BH fhdd!
U] B & P (1)

What do business firms establish to ensure consumer hearing rights ?



10)

11)

12)

13)

yus — ¢

Section - B

TETRIAD U : (4 H 13)
Short answer type questions: (4 to 13)

Y B AoHfad TR IR e wgfg & 7ey 91 Wy 7 ? 2)
What is relation between political environment of the nation and business prosperity ?
3MyenRe vg sHIu=Re e § & e faRkay | )

Write two differences between formal and informal oraganisation.

ST & Pl IR SRR forRau | (2)

Write any four responsibilities of consumer.

SRS o&ih+ # gfafted fbg SF arel ol & M foaRau | (2)
Write the names of the centers to be distinguished in responsibility accounting .
IR H Ui &1 WX SR goll @ Sfavaddl Bl fhE UBR  YwIad

HRAT & ? (2)

How does the level of competition in the market affect requirement of working capital ?
T FIReL # SRR D Fa1 e 82 2)

What is the role of the government in pricing ?
SUHTET fb9 FFT T el ® ? SRV AlRd AHS | (2)

Who can be considerd as consumer ? Explain with an example.

faeTcye uTReIfAe Yool T S1ffdl &) SUTCHA] & A Heel Bl fdveiyor
BN | (2)

Analyze the relationship between differential remmueration system and productivity of

the workers.

IRqd Yagds HI yRHINT HITY | 2)
Define globle manager.

“ferareT fRIET & ARl b1 IR BRar ? ¢ AHssY | 2)

"Planning determines standards of controlling." Explain.



14)

15)

16)

17)

yrs — 9

Section-C

TSRS U3 ¢ (14 9 17) —
Long answer type questions: (14 to 17) -

AT B Thal AR ST & Thar & Rigid @ 727 04 iR faRav | (3)
Write three differences between principle of unity of command and unity of
direction.

31rg1/OR
i e iR THY feug Ngid & #eg Haeg FHssy |

Explain relationship between principle of speed study and time study.

IS ufthdr & a7 =Ror Waifers gRT gHeey | (3)

Explain various steps of planning by making sketch.
31di/OR

e @1 AW faRaw |

write limitations of planning .

SHHATRAT B FIF v UJad DI Sl dlell fbegl o= u_ieqrsii &1 qoid Sy | (3)

Describe any three examinations used for the selection of employee.

312791/OR
PRI GR HHAN UfRerr &7 a9 Sy &1 guia v |

Explain any three on the job training methods to employees .
e @ g1 fal¥iftedxor, gt g9med ofR dHaR fAar e UsR Evd 8rar 87
NEEIERE (3)

How does specialisation, effective administration and employee development become

possible by the organisation ? Explain.



18)

3712rg1/OR
HTRITHD TS i BT AT HIfTU |

Analyze the functional organisation structure.

g — §

Section-D

fre=msTs g9 (18 & 20) : (3G AT 200 )
Esssy type questions (18 to 20) : (word limit : 200 words)

focig foofat o1 garfad o 9rel faf~1 eR®i & aHssd |

Explain various factors affecting financial decisions .
31d1/OR

AT oIt Bl g9Tfad R dTol BRbi bl AHSTSV |

Explain various factors affecting dividend decisions.

19) f<eM @& d@l &1 9T B |

20)

Describe elements of directing.
7Ia1/OR

frdem @ fdel ar Rigial &1 aui|g Sy |

Explain any for principles of directing.

Ifeds a1 dTEDl & foy Fa1 iifas g 2
What is propriety of personal selling for customers.
31da1/OR

EEIEEECIRIGICRIRIGY ‘j\c’ql.cb"I b IGIQ |

Make critical evaluation of advertising.
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1, I TPAPHR—
%4 SECED) SICRIN gforera
1. | =™ 17 30.36
2. | Iradr 17 30.36
3. | SEOAET 10.5 18.75
4. | BIEA 6 10.71
5. | fageryor 5.5 9.82
AT 56 100
2, U & JHRIRIIBFHR—
a1 | gfage (afpT 1) (o=t Ay
@)
1. | 9gfddedTcHD 18 Y 16.07 33.96 35
2. | Rz 10 s 8.93 18.87 20
3. | sifceTeRIcTD 10 1 10 17.85 18.87 20
4. TETRTHD 10 1% 15 26.79 18.87 30
5. ST STNTCHD 3 3 9 16.07 5.66 45
6. | MeuTH® 2 4 8 14.29 3.77 45
AT 53 56 100 100 195
e
fahed AT : WoS | UG T H @
3. fd9g % @1 IHHR—
Esh v g% SEN gfderd
1 | UIIEROTT gyl 3R A9 Ry 14 25
2 | BRT drenfire 10 17.86
3 | TataReig foe Ud SRS |yomg 10 17.86
4 | greRoig Sia wrEnfiraT 11 19.64
5 | GITaRoT 3R FATS] 11 19.64
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AT WY
2 |® Tl # (1) ) %2 | 1 %(2) L) () 1013)
3 | ygteroir o ©a "
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THAT 99
Model Paper
fqwr — gaieRor fagm
Sub : Environment Science
Y : 03 gUC 15 AT

qUTieh : 56

Wenfal & forv g fAden—
GENERAL INSTRUCTIONS TO THE EXAMINEES:

1.

oRIeeft UM 319 YIS UR IUAT AHIG AfHarda: for |

Candidate must write first his/her Roll No.on the question paper.

) wee arfard €|

All the question are compulsory.

TS U BT IR &l T8 STR—gRdaT 7 &1 fod |

Write the answer to each question in the given answer-book only.

S Ul H o=iR® WS &89 9 & SR b A1 & forsd |

For question having more than one part,the answers to those parts are
to be written together in continuity

U &1 IR e | Jd U Bl HATD % o |

Write down the serial numgber of the question before attempting it.
Ue UF & fewal 9 U [URY H Bl bR Bl Jfe /R / R 8
R 2=l |I§] & UST DI & Hel q |

If there is any kind of error/difference/contradiction in the Hindi &
English versions of the question paper, the question of hindi version
should be treated valid.



YTrg — I
Section - A

1) dgfdeedl U : /91 Ul & SR BT el fddhed o9 d) SR—ygRaar H
oTrRIT |
Multiple Choice Questions: Answer the following questions by selecting the

correct option and write them in the answer sheet.

i) SIORTRR BT AL XET IR ACg 8l a— Yo
)  8Km ) 18 Km
d) 20 Km 3) ~10Km

The thickeness of troposphere at the equator -

A)  8Km B) 18Km
C) 20Km D) ~ 10Km
i) FreferRea o 9 s8R 8 99 81 &— Y
) CO 9 0
d) CHy ])  Sloldrq

Which of the following is not a green house gas -

A) CO, B) O
C) CH, D) Water Vapour

iii) SAS—3dE I FT & BRI 5— Ya
) URNT q)  dren
|)  DHsiHIA T)  ugfAfm

The main cause of itai-itai disease-

A)  Mercury B) Copper
C) Cadmium D)  Aluminium

iv) fF=feIlRead & 9 vRT WReR gRT fdy 71U 8RT I &— Ys

J)  BRA AR §)  8Ra dfea



W) BRa ufgdr T)  SWIad Gl

Which of the following are green initiatives taken by the government of India.

A)  Green Buildings B)  Green Banking
C) Green Belt D)  All of the above

v) T3 faeell § dfFer gRT SHRGT Sficlel 93 & UgQ I 5— Yo
3) WIEEE d)  THUH
| AFST 3) 3R

The green building movement near New Delhi is @ prominent place in the area.
A)  Faridabad B)  Gurugram
C) Noida D) Alwar

Vi) TR0 GRETT SRAFTIH hd T §3T— Ya
3) 1980 d) . 1986
) 1990 q) 2006

When did the Environmental Protection Act come in the force-

A) 1980 B) 1986
C) 1990 D) 2006
vii) NAPCC @ Z[%afTd §g— Y
31) 2006 d) 2008
) 2010 T) 2012

NAPCC Started -

A) 2006 B) 2008
C) 2010 D) 2012
viii) o e/ & 728 91T 2 e qoieu | aeoT &R & Aadhdl & Y2
) AEINTD §)  gaidReg
SRS IRED T) SR qHl

The main parts of sustainable development that need to be thoroughly tested are-

A)  Social B)  Environmental



C) Economic D)  All of the above
ix) fawa &1 ugam W9 §6 Rerd fear am g—

) ARSI q)  SifEfern

W) %) uRm
The first green bank in the world has been established-

A)  Florida B) Australia

C) Europe D) Asia
X) 9Rd Y H Ul Sbl Al 1 H A [ HE Dl {Fe—

&) IR q)  ere

W) faur 7))  Remaw
Which of the following companies first got Eco mark-

A)  Godrej B)  Tata

C)  Wipro D) Reliance
xi) Aifvcad Forg foaa afad 8-

3)  SifasdoA C)RCIN G|

|)  Slelar 3) AR Sl
Montreal document is related to -

A)  Oxygen B) Ozone

C) ~ Water Vapour D) Solar Energy

Xii) a=1 Shai &1 RIeR BT W fhaq a¥ &1 Fof &1 Yraeny a—

) 59y g) 10 99
d) 29y 3) 15 a9
How many years of imprisonment is there for hunting wild animals-
A) 5Year B) 10 Year
C) 2 Year D) 15 Year

xiii) SHFERNfes DDT & 3gged & ol STRaR &ddb &l A1 &—
) AGTHEAN q) CIROSHNRR




d)  BRIde

T)  HIEaMRIA

The name of the fungus responsible for decomposition xenobiotic DDT is-

A)  Stenotrophomonas

C)  Phanerochaete

B)  Tricoderma Reeseli

D) Chrysoporium

Xiv) IO B dTel Tl & JAER W S AR DI fba bR H aifiad o

g —

How many types of solid waste are classified based on the sources of generation.

A) Five
C) Seven

XV) GUWR—T' SHAIY] Bl WIol dbl—
3) SI—3T < Argd
) AR

Super-bug bacteria discovered.

A) Dr Anand
C) Niren-berg

xvi) HFE ST Suer 8—

3) beas
) AT
A man-made disaster is -
A) Earthquake
C) Volcano

xvii) YRT ¥ a1ffe a9t &1 Nad g—

37) 90 cm

Yo
9) IR
g) « dH
B)  Four
D) Three
Yo
q) S EMfd< YR
Q) T Y P A
B) Dr Har Gobind Khorana
D)  None of these
Yo
a9 g
9 I«
B)  Tsunami
D) War
Yo

9) 100 cm



53) 110 cm T) 120 cm

The average annual rainfall in India is-

A) 90 Cm B) 100cm
C)110cm D) 120cm
xviii) AR gHEd T BT FaT 3 7

3) dig aH | 9 Rgai

i) g o9 | 3) SF gH 9

"Sager Dharmamrit" Book is related to-
A) Buddhism B)  Hinduism
C) Sikhism D) Jainism

2) Raa el @1 gfid i
Fill in the blanks:
) S &7 AT e olfeT T D o v 9 foram AT B Yo

The English word noise is derived from the latin language word ..............c.cco.....

if) BOD®T A STel Sl H SR oot UGTAT &1 AT T Gad B | Y2

The word BOD is an indicator of the amount of.......................... matter present in

water sources.

1) F—— AR Ul UeT gRT dgd I~ Rl & | 7
................ solar panels produce direct current electricity .

iV) WRT H OKIETOT Ud YHTONHROT o gRT fohar ST 2 Ya
Testing and certification is done by ................. in India.

V) S =R BaRT U gl BT BT & | Yo
Biodegradable waste is generally ............ in nature.

V) R S DY DI ST THBGHFIRESTT &g |died ITJH o | 7
The species of earthworm called ................ IS most suitable for vermi

composting.



vii) JTSANTH, o $T BT 9H 2 | Yo

|.P.M. is the short name of................

viii) 9= 8¢ & a9 B 9 D T =T ATl AT | Ya
................ movement was launched to save the forests of the Western Ghats.

iX) Hgad I FE T ay¥ Bl GITEAROT SRRl 99 |ifvd BT | 7
The United nation has declared the year........... as the year of Environmental
Awareness.

x) fSOer’ ereg & IART ..o 99T 9 g © | Y
The word disaster originated from the ........... language.
3) SATTERIAS U : 7 Ueel & STR U e (3T U Ufded H alfory |

Very short answer type questions : Answer the following question in one word or

one line .

i) 3O 3TaeT BT Bl Uh PHIRYT I8 | 1
Give one reason for ozone depletion.

ii) 3N &= H e~ ugyo & Wghd HiFe WR Bl 918 | 1
What is the accepted standard level of noise pollution in industrial area.

i) TR fhxont & fafawor @7 SPIg Iy | 1
What is the unit of radiation of x-ray rays.

iV) TR AT @i fhaen sifori # qier a1 8 ? 9 for | 1
How many categories are natural resources divided into ? name them.

V) I ST (RETOT) St e oy fhar v 1

When was the wild life (protection) Act implement?
Vi) T gRT & IR &g IRBR h3l a3 Y &7 IR giiyd &R Ahdl

g7 1

Under which section the central government can declare a particular area as a

sanctuary ?

Vii) 9 SUARIGIOT 4T & 7 1

What is Bio remediation ?



viii) GMO'S®T [T 9™ iRy | 1
Write the full name of GMO'S.
iX) YT STel gAoifad &9 8T 8 2 1
How is underground water regenerated ?
X)GSHT FT & 7 1
What is "Khadana" ?

Yls — ¢

Section-B

STEORTCHD Yo : ([N Treq HHT o9 50, 3Tes)

Short answer type questions: (Answer word limit approx: 50 words)

4)  IFI 99 fHd PEd B 7 1Y%
What is acid rain ?

5) 3— R docudr &l i aHssy | 1Y%
Explain briefly the 3-R concept.

6) SHI-AIDH B Blg b AUGS fIRaY | 1%
Write any three criteria of Eco- Mark.

7) IR e i (1988) BT RIT SET © P 1%

Write the objective of National forest policy 1988 ?

8)  UATARYT B BT AN B H S~ 3 Y qaigd | 1%
Mention three obstacles arising in the implementation of Environmental laws .

9) Tt rAfEH &I dF faRivay forRay | 1%
Write three features of water act.

10) GMO'S @& BI3 diF o forlRey | 1Y%,

Write any three advantages of GMO'S

11)  SIF! 9raifded &1 87 AHEisy | 1%

What is Xenobiotics ? Explain .



12)

13)

AT RV & JJAR J&ll & A8 Dl WL DIOIY | 12
Explain the importance of trees according to Matsya Purana ?
I IR BT THIUT At @= 2?2 1%

What is scrapping method of land reclamation ?

yvs — 9

Section-C

EIIRTHAD U © (STR g AHT T 60 IR)

Long answer type questions: (Answer word limit approx: 60 words)

14) AT UGEUT &I GRETT Y | TR USu® SRS $) At § |98 | 1+2=3

15)

16)

Write the definition of thermal pollution. Briefly explain the thermal pollutant
factor.
3rerar /OR
2T UGNl &1 IRATT AT | FaT UgNT & fheel a1 Sl $f FHsisy |
Give the definiton of soil pollution. Explain any two sources of soil pollution.
ARG HaRMEIE & AMifbd & 99 8¢ SH T8el H $HeRl 3UecH
gfdharr ol wferd § Ay | 1+2=3

Draw a labelled diagram of community garbage bin and briefly explain the

process of waste decomposition in ground pits.
31erdr / OR
Tafad URe Y§ BT IIRRIT o aerax el 2 faftrit &1 <fera & wssy |

Make a schematic diagram of Integrated pest management and briefly explain

any two methods.

G [y ded © 2 Gl &I f[O%d aifieRer B | 1+2=3
What are resources ? Give detailed classification of resources.

3rerdr / OR
3MYST Y= Pl 37ef W IR | 3AD UG AT BT oI DI |

Explain the meaning of disaster management.Describe it's main dimension.



Ylg — q
Section - D
f9eTeHd uea—  (Essay type question)

17)  9IgHvSd H SURIT 1 &1 Ul faRay | agaved &l SReT Bl
TS | 1+3=4

Write the percentage of gases present in the atmosphere. Explain the structure

of atmosphere.

OR
St gguer 5 wEd € ? e @ gfe ¥ fafeRu & yeR aHensy |

What is radioactive pollution ? Explain the types of radiation from the point of

view of structure.
18) ST Ueidld W dfera ey fofRaw | 4
Write a short essay on Kyoto protocol.
OR
e AT 1972 R Hiera e forRay |

Write a short essay on Stock-Home convention 1972 .




